## EXHIBIT "I"

Law Office of Nathaniel B. Smith 100 Wall Street - 23rd Floor New York, NY 10005

Invoice submitted to: Schoolcraft

December 04, 2015

Invoice #10032

## **Professional Services**

		Hrs/Rate	Amount
2/3/2013 NBS	Telephone conference with Peter Gleason; review of docket complaint and decision by J. Sweet.	2.50 575.00/hr	1,437.50
2/7/2013 NBS	Meeting with Adrian Schoolcraft; Peter Gleason and John Lenoir re possible representation.	2.50 575.00/hr	1,437.50
2/8/2013 NBS	Telephone conference with Peter Gleason re taking on new case.	0.30 575.00/hr	172.50
2/9/2013 NBS	Telephone conference with co-counsel in reference to defendant's examination before trial in class action.	0.30 575.00/hr	172.50
2/11/2013 NBS	Telephone conference with co-counsel; review of Floyd case.	0.50 575.00/hr	287.50
2/12/2013 NBS	Appear for examination before trial of client in Floyd case and defend same (3.5) (before MJ Freeman); meeting with co-counsel and client in re going forward; review of emails re status.	5.50 575.00/hr	3,162.50
2/13/2013 NBS	Telephone conference with Peter Gleason; telephone to Richard Guilbert re status.	0.50 575.00/hr	287.50
2/14/2013 NBS	Telephone conference with client; review of Floyd decision; meeting with client and team.	3.50 575.00/hr	2,012.50
2/15/2013 NBS	Review of files from counsel; review of pleadings; telephone call to co-counsel twice; review of penal code.	2.20 575.00/hr	1,265.00

		Hrs/Rate	Amount
2/17/2013 NBS	Review of boxes from client and Guilbert.	2.50 575.00/hr	1,437.50
2/18/2013 NBS	Review of decisions of file; review of production.	3.50 575.00/hr	2,012.50
2/20/2013 NBS	Meeting with co-counsel; preparesubpoenas	0.80 575.00/hr	460.00
2/22/2013 NBS	Review of emails; telephone call to co-counsel; telephone Graham Raymond (Village Voice).	0.70 575.00/hr	402.50
2/24/2013 NBS	Travel with Peter Gleason to meet defendant and his father in Saugerties, NY.	7.20 575.00/hr	4,140.00
2/27/2013 NBS	Review of file; prepare summons fo amended cmplt; file Summons with SDNY clerk; tc attempt service of same on Law Dept; telephone call to Peter Gleason re status of serving 5 remaining defendants.	2.80 575.00/hr	1,610.00
2/28/2013 NBS	Review of examination before trial; prepare subpoena; prepare Notice of Appearance.	3.50 575.00/hr	2,012.50
3/1/2013 NBS	Telephone conference with potential medical expert (.5); review of discovery; file Affirmation of Service; review of medical and hospital records.	3.20 575.00/hr	1,840.00
3/2/2013 NBS	Review of Section 1983 and 242 issues and jury instructions for various theories of the case.	5.00 575.00/hr	2,875.00
3/3/2013 NBS	Review of discovery; review of discovery plan; review of draft letter to Justice Department.	2.50 575.00/hr	1,437.50
3/5/2013 NBS	Telephone conference with client re Justice letter and Chris Dunn three times; review of discovery record.	2.50 575.00/hr	1,437.50
3/6/2013 NBS	Review of discovery records; telephone call to Chris Dunn (NYCLU); meeting with City CM Williams; Peter Gleason and Adrian Schoolcraft (2.1).	3.50 575.00/hr	2,012.50
3/7/2013 NBS	Review of file; meeting with client and Peter Gleason; review of new matter.	3.80 575.00/hr	2,185.00
3/9/2013 NBS	Meeting with co-counsel and intern in reference to status.	2.50 575.00/hr	1,437.50
3/14/2013 NBS	Emails to opposing counsel; letter to Judge Sweet in reference to motion schedule.	0.70 575.00/hr	402.50
3/20/2013 NBS	Review of Magistrate Judge letter; telephone call to Peter Gleason; letter to court re two motions; review of discovery file.	2.50 575.00/hr	1,437.50

		Hrs/Rate	Amount
3/22/2013 NBS	Appearance in court on Floyd case to see Marino testify (2.5); telephone call to client (.3); call to Peter Gleason(.4); prepare Rule 34 demand for property.	4.20 575.00/hr	2,415.00
3/23/2013 NBS	Review of motion and motion letter; research on taking high-level government employee's deposition.	3.50 575.00/hr	2,012.50
3/25/2013 NBS	Working on opp to motions to quash and compel; telephone call with client and review of materials with client (1.5); telephone conference with Jon Norinsberg re Queens DA; suit and sharing information (0.5).	8.50 575.00/hr	4,887.50
3/26/2013 NBS	Telephone conference with client (.5); call to Peter Gleason(.3); drafting memo of law in opposition to motion.	6.50 575.00/hr	3,737.50
3/27/2013 NBS	Revising Memo of Law in Opposition(4.5); telephone call to client; meeting with Peter Gleason; mag and artist re demonstratives.	5.80 575.00/hr	3,335.00
3/28/2013 NBS	Draft supplemental memo of law.	1.50 575.00/hr	862.50
3/29/2013 NBS	Review of discovery; review of letter re gag order; telephone call to client; email team; call to Peter Gleason; telephone G. Rayma.	7.50 575.00/hr	4,312.50
3/30/2013 NBS	Review of gag order cases (1.5); conference with team (1.0).	2.50 575.00/hr	1,437.50
3/31/2013 NBS	Review of cases on gag order.	3.50 575.00/hr	2,012.50
4/1/2013 NBS	Review of discovery; email reference discovery plea.	3.50 575.00/hr	2,012.50
4/2/2013 NBS	Appearance at Floyd trial to hear Mauriello testify.	3.50 575.00/hr	2,012.50
4/3/2013 NBS	Appearance at Floyd trial to hear part of Dr. Fagan direct.	2.50 575.00/hr	1,437.50
4/4/2013 NBS	Drafting memo of law on prior restraint.	7.50 575.00/hr	4,312.50
4/5/2013 NBS	Revise memo of law on prior restraint.	3.80 575.00/hr	2,185.00
4/7/2013 NBS	Meeting at upstate with team.	8.60 575.00/hr	4,945.00
4/8/2013 NBS	Meeting with client all day re prep for case and ebt	7.50 575.00/hr	4,312.50

		Hrs/Rate	Amount
4/9/2013 NBS	Continued review of discovery)(4.0); MHL on emergency hospitalization; meeting with potential expert re: medical mal practice issues (1.5); meeting with John re: motion; telephone call to Walker re: same.	6.50 575.00/hr	3,737.50
4/10/2013 NBS	Meeting with team after court appearance.	1.50 575.00/hr	862.50
4/11/2013 NBS	Meeting with team and Rae Kosheck re: NYPD re adm trial issues.	2.50 575.00/hr	1,437.50
4/14/2013 NBS	Telephone conference with Peter Gleason re: status.	0.50 575.00/hr	287.50
4/15/2013 NBS	Review of production.	2.00 575.00/hr	1,150.00
4/16/2013 NBS	Review of production.	2.50 575.00/hr	1,437.50
4/22/2013 NBS	Review of testimony in discovery.	3.00 575.00/hr	1,725.00
4/23/2013 NBS	Review of PG on Marino, Mauriello and Lauterborn; review of reports of PG by IAB.	4.50 575.00/hr	2,587.50
4/24/2013 NBS	Review of AEO files.	3.50 575.00/hr	2,012.50
4/25/2013 NBS	Appearance at 1 Police Plaza for conference; telephone call to client re: status; review of interviews by QAD.	2.50 575.00/hr	1,437.50
4/26/2013 NBS	Meeting with client re: background and chronological with John Lenoir.	6.50 575.00/hr	3,737.50
4/27/2013 NBS	Meeting with client re: background with John Lenoir.	7.50 575.00/hr	4,312.50
4/28/2013 NBS	Telephone conference with John Lenoir re: upcoming trial with NYPD.	0.20 575.00/hr	115.00
4/29/2013 NBS	Telephone conference with with client (1.0) re: trial; research on collateral estoppel issue.	2.80 575.00/hr	1,610.00
4/30/2013 NBS	Telephone conference with client; research on collateral estoppel issue.	2.80 575.00/hr	1,610.00
5/1/2013 NBS	Telephone conference with Peter Gleason re: status; emails with clients re: same.	0.50 575.00/hr	287.50

		Hrs/Rate	Amount
5/2/2013 NBS	Draft letter to Publicker re: collateral estoppel issue; email all counsel re: discovery deadlines; email court re: same.	1.50 575.00/hr	862.50
5/3/2013 NBS	Review of cases; email letter to opposing counsel re: collateral examination before trial issue.	0.70 575.00/hr	402.50
5/7/2013 NBS	Listening to day-long recording of 10/31/09; taking notes thereof (7.0); review of discovery requests; prepare same.	9.50 575.00/hr	5,462.50
5/8/2013 NBS	Review of recordings; prepare discovery responses.	5.50 575.00/hr	3,162.50
5/9/2013 NBS	Meeting with J. Lenoir re: case and status; review of internal memos by IAB; review of recordings.	3.20 575.00/hr	1,840.00
5/10/2013 NBS	Continued review of discovery.	3.50 575.00/hr	2,012.50
5/13/2013 NBS	Meeting with John and Melissa re: NYPP; telephone call with client.	2.50 575.00/hr	1,437.50
5/14/2013 NBS	Telephone conference with client re: status; review of discovery files; outline of production.	3.80 575.00/hr	2,185.00
5/15/2013 NBS	Continued review of production; email opposing counsel re: status of IPP trial and Queens DA document.	2.20 575.00/hr	1,265.00
5/16/2013 NBS	Review of files; telephone call to co-counsel; telephone client; call to Lisa Bland.	5.50 575.00/hr	3,162.50
5/17/2013 NBS	Continued review of discovery; telephone call to client (2 times); call to John Lenoir; email re: same.	3.50 575.00/hr	2,012.50
5/18/2013 NBS	Telephone conference with client and co-counsel.	1.20 575.00/hr	690.00
5/20/2013 NBS	Review of personal file on defendants; sick report and duty status at 10/31/09; research on Judge Sweet letter; telephone call to John Lenoir re: Jimmy McCutkin re: telephone to Lisa Bland.	3.50 575.00/hr	2,012.50
5/21/2013 NBS	Meeting with Jon Lenoir; telephone conference with co-counsel and Jim McCutheon; telephone conference office of Lisa Bland; review of civil commitment articles and decision on dangerousness predictions; review of discovery record; prepare responses to objections to City Defendants demands; listening to recording of IAB interview.	5.80 575.00/hr	3,335.00
5/22/2013 NBS	Telephone conference re: status; telephone call Lisa Bland re: possible deal (demand of back pay in consideration of resignation); review and revised responses to discovery demands.	1.80 575.00/hr	1,035.00

		Hrs/Rate	Amount
5/23/2013 NBS	Telephone conference with client; call to co-counsel; review of decisions; email re: status.	0.80 575.00/hr	460.00
5/24/2013 NBS	Telephone conference with client re: status; review of emails from co-counsel re Eli Silverman.	0.40 575.00/hr	230.00
5/30/2013 NBS	Telephone conference with client; telephone call to Lisa Bland's office.	0.50 575.00/hr	287.50
6/3/2013 NBS	Telephone conference with co-counsel; letter to Judge Sweet on discovery; telephone call to Lisa Bland re: now want demand from us and will not agree to stay.	3.50 575.00/hr	2,012.50
6/4/2013 NBS	Telephone conference with client; telephone call co-counsel; draft letters to Judge Sweet re: stay and re: alleged discovery deficiencies.	3.50 575.00/hr	2,012.50
6/5/2013 NBS	Appearance in court at conference before Judge Sweet handled by John Lenoir; conference with John re: same.	1.80 575.00/hr	1,035.00
6/6/2013 NBS	Review of emails; review of proposed order; review of notes on defendant's examination before trial; email co-counsel; prepare for meeting with experts.	1.80 575.00/hr	1,035.00
6/7/2013 NBS	Review of Queens D.A. files (20); meeting with John Lenoir and potential experts on NYPD and dangerousness (2.0); telephone client re: motion for stay of NYPD trial.	4.50 575.00/hr	2,587.50
6/9/2013 NBS	Preparing proposed Order to Show Cause on stay of adm proceedings	3.50 575.00/hr	2,012.50
6/10/2013 NBS	Revised Order to Show Cause; filed same; emails with counsel; telephone call to co-counsel; telephone call to client re: status; 2nd appearance at court.	5.50 575.00/hr	3,162.50
6/11/2013 NBS	Research on Younger abstention issues for stay motion.	5.50 575.00/hr	3,162.50
6/12/2013 NBS	Review of Younger case law.	1.50 575.00/hr	862.50
6/13/2013 NBS	Review of Younger et al decisions on stay motion.	3.50 575.00/hr	2,012.50
6/14/2013 NBS	Email regarding press contracts; telephone call to client; further research on Younger issue.	3.50 575.00/hr	2,012.50
6/18/2013 NBS	Drafting reply on stay; research on issues re: same.	8.50 575.00/hr	4,887.50

		Hrs/Rate	Amount
6/19/2013 NBS	Drafting reply; telephone call to client re: reply transcript of 10/31/09; call from Village Voice; telephone G. Rayman re: status of case.	5.50 575.00/hr	3,162.50
6/20/2013 NBS	Telephone conference with co-counsel; review of Floyd submissions.	2.50 575.00/hr	1,437.50
6/25/2013 NBS	Telephone conference with client; telephone co-counsel re: travel to upstate; review of issuses regardig: litigation with indigent client; prepare for same.	2.80 575.00/hr	1,610.00
6/26/2013 NBS	Travel to Johnstown for meeting with client [8 hours of travel].	13.00 575.00/hr	7,475.00
6/27/2013 NBS	Review of tapes for the purpose of responsing to discovery demands by the Clty for requests for admissions and providing additional information to the defendants about the recordings.	7.50 575.00/hr	4,312.50
6/29/2013 NBS	Review of stay decision on NYPD trial.	0.50 575.00/hr	287.50
6/30/2013 NBS	Review of tapes and drafting response to Court Order re: complication of Plaintiff's deposition testimony and requests to admit.	5.50 575.00/hr	3,162.50
7/1/2013 NBS	Telephone conference with client twice (1.5); review of various tapes; review of transcripts; prepare Response to the Court Order re: discovery.	3.80 575.00/hr	2,185.00
7/10/2013 NBS	Travel to Albany and meet with the client at John Garber's office (194 Washington Avenue); return to NYC { 8 hours travel time} .	12.50 575.00/hr	7,187.50
7/11/2013 NBS	Telephone conference with R. Gilbert; telephone conference with client re decision; telephone call to client; telephone Gilbert	0.90 575.00/hr	517.50
7/18/2013 NBS	Telephone conference with client re Judge Sweet and re: discovery status; email opposing counsel re: same and schedule of examination before trial.	0.70 575.00/hr	402.50
7/22/2013 NBS	Telephone conference with client; re: status; review of to do list; memo to file.	1.50 575.00/hr	862.50
7/23/2013 NBS	Telephone conference with co-counsel re: status.	0.40 575.00/hr	230.00
7/24/2013 NBS	Telephone conference with Magdelena re: status.	0.30 575.00/hr	172.50
7/25/2013 NBS	Prepare for all counsel conference call; telephone co-counsel; telephone call client.	3.50 575.00/hr	2,012.50

		Hrs/Rate	Amount
7/26/2013 NBS	Preparing documents for client.	0.90 575.00/hr	517.50
7/27/2013 NBS	Meeting with T. Skinner re: case.	0.80 575.00/hr	460.00
7/30/2013 NBS	Revising documents (sub of counsel; memo of understanding; discovery demands) (1.5); telephone call H. Suckle re: possible involvement; telephone co-counsel re: status; review of Section 1983 case law (1.5).	3.50 575.00/hr	2,012.50
7/31/2013 NBS	Meeting with H. Suckle re: hospital; draft memo to client; revise sub of counsel; memo of goals; document demand; emails re: discovery plan with co-counsel and opposing counsel; telephone call to client re: status.	6.50 575.00/hr	3,737.50
8/1/2013 NBS	Meeting with Magdalen re: status and case; review of case law in jury instructions.	2.80 575.00/hr	1,610.00
8/6/2013 NBS	Telephone conference with co-counsel; review of emails and press coverage; call from G. Rayman re: book out.	0.80 575.00/hr	460.00
8/13/2013 NBS	Read recent book by G. Raymond called NYPD Tapes	4.50 575.00/hr	2,587.50
8/14/2013 NBS	Travel to Mayfield, NY (4.5); review of recent decision in Floyd case.	7.00 575.00/hr	4,025.00
8/15/2013 NBS	Meeting with client re: examination before trial preparation.	6.50 575.00/hr	3,737.50
8/16/2013 NBS	Meeting with client to discuss case and deposition (7.5); travel back to NY (4.5).	12.00 575.00/hr	6,900.00
8/20/2013 NBS	Telephone conference with client; revised letter to court.	1.50 575.00/hr	862.50
8/21/2013 NBS	Telephone conference with co-counsel; emails with opposing counsel re: discovery schedule.	1.20 575.00/hr	690.00
8/22/2013 NBS	Telephone conference with Jon Lenoir re: status; telephone Greg Radomisle re: hospital inspection; review of emails re: schedule; conference with all counsel re: schedule; draft objections (2.5); conference with Adrian Schoolcraft re: same.	4.20 575.00/hr	2,415.00
8/23/2013 NBS	Meeting with Magdalena re legal research on state action; telephone call with Jon Lenoir re: status.	1.50 575.00/hr	862.50
8/24/2013 NBS	Meeting with investigator (1.0); telephone conference with Jon Lenoir re: Paul Brown (0.3).	1.30 575.00/hr	747.50

		Hrs/Rate	Amount
8/25/2013 NBS	Review of production for AEO issue (5.0); telephone call to J. Smith (photography of inspection).	5.50 575.00/hr	3,162.50
8/26/2013 NBS	Continued review of production.	3.50 575.00/hr	2,012.50
8/27/2013 NBS	Travel to Saugerties to meet client (4.5); meeting with client re: status (3.5).	8.00 575.00/hr	4,600.00
8/28/2013 NBS	Review of decision on jury order; telephone Pete Gleason re: suits and apartment; review of counsel; review of conference orders; review of production.	3.50 575.00/hr	2,012.50
8/29/2013 NBS	Review of productions; telephone call to client (0.5)	3.80 575.00/hr	2,185.00
8/30/2013 NBS	Continued review of production.	3.50 575.00/hr	2,012.50
9/3/2013 NBS	Telephone conference with client re: status.	1.50 575.00/hr	862.50
9/4/2013 NBS	Email to client re: status; review of status report; review of letter motion by city.	0.70 575.00/hr	402.50
9/6/2013 NBS	Review of correspondence on discovery; drafting AEO letter motion; telephone call to client re: status and AEO letter issues (1.0)	3.50 575.00/hr	2,012.50
9/8/2013 NBS	Drafting letter motion on AEO.	2.50 575.00/hr	1,437.50
9/9/2013 NBS	Revising letter motion; emails on same.	0.80 575.00/hr	460.00
9/10/2013 NBS	Telephone conference with client.	0.20 575.00/hr	115.00
9/16/2013 NBS	Email regarding status; telephone call to client.	0.50 575.00/hr	287.50
9/18/2013 NBS	Telephone call and emails reference 81 inspection.	0.50 575.00/hr	287.50
9/19/2013 NBS	Inspection at 81 with defendants, cleint, and Mag.	5.50 575.00/hr	3,162.50
9/21/2013 NBS	Meeting with client.	3.50 575.00/hr	2,012.50
9/22/2013 NBS	Review of motion letter re: AEO and personal property motion.	2.50 575.00/hr	1,437.50

		Hrs/Rate	Amount
9/23/2013 NBS	Draft reply letter on AEO and personal property motion (1.8); telephone conference with client; telephone call with Mag; telephone call to John Lenoir re: status; review of 81 inspection photos; review of AEO designations.	2.50 575.00/hr	1,437.50
9/25/2013 NBS	Appearance in court on motions (2.0); meeting with team re: case and examination before trial (2.0); prepare for examinations before trial of plaintiff	7.50 575.00/hr	4,312.50
9/26/2013 NBS	Appearance for client; examination before trial and prepare for same.	9.00 575.00/hr	5,175.00
9/27/2013 NBS	Appearance for examination before trial of defendant and prepare for same.	9.00 575.00/hr	5,175.00
9/29/2013 NBS	Meeting with client re: case and next steps.	1.50 575.00/hr	862.50
9/30/2013 NBS	Telephone conference with co-counsel; review of emails; review of productions.	2.50 575.00/hr	1,437.50
10/1/2013 NBS	Meeting with client re: examination before trial and inspection preparation.	3.50 575.00/hr	2,012.50
10/2/2013 NBS	Inspection at Jamaica Hospital; visit Queen's location; meeting with client; reviewing tapes re: examination before trial.	7.50 575.00/hr	4,312.50
10/4/2013 NBS	Preparing for Marino and Mauriello examination before trial (5.0); telephone conference with co-counsel; emails with opposing counsel re: adjournment for Mauriello; review of PG & Floyd trial transcripts.	5.50 575.00/hr	3,162.50
10/7/2013 NBS	Prepared for examination before trial; conference call with co-counsel; conference with client.	5.50 575.00/hr	3,162.50
10/8/2013 NBS	Preparing for and taking Marino's examination before trial; calls to Court on status of various motions.	9.50 575.00/hr	5,462.50
10/9/2013 NBS	Telephone conference with John Lenoir re: status.	0.50 575.00/hr	287.50
NBS	Meeting with co-counsel; review and revise status report; review of motions and filing on case re: discovery; telephone conference with G. Raymond re: Mauriello counterclaims (will comment in opposing papers).	4.50 575.00/hr	2,587.50
10/10/2013 NBS	Review of email; conference with co-counsel; review of law on tortuous interference claim; email opposing counsel re: motion to amend Mauriello answer.	1.80 575.00/hr	1,035.00

		Hrs/Rate	Amount
10/11/2013 NBS	Drafting letter to Court; research on motion to amend.	3.50 575.00/hr	2,012.50
10/13/2013 NBS	Telephone conference with client re: status re: NYCLU and Dunn and going forward; telephone call to John Lenoir re: same.	2.30 575.00/hr	1,322.50
10/14/2013 NBS	Telephone conference with L. Dunn; telephone call to John Lenoir re: case; drafting and research on motion to strike Mauriello answer; discovery matters (AEO personal property) and opposing to motion to amend pleadings (7.5).	8.50 575.00/hr	4,887.50
10/15/2013 NBS	Revised motion and memo; emails re: same; letter to court; conference with client re: status.	3.50 575.00/hr	2,012.50
10/16/2013 NBS	Prepare for court appearance; appear before Judge Sweet on various motions (3.2); conference with trial team; telephone call with Howard Suckle re: status and medical defendant's examination before trial; email to client.	4.50 575.00/hr	2,587.50
10/17/2013 NBS	Telephone conference with client; emails re: status; email prior counsel re: discovery matters.	0.80 575.00/hr	460.00
10/18/2013 NBS	Telephone conference with client; review of medical documents responses; email opposing counsel re: status of production.	1.80 575.00/hr	1,035.00
10/22/2013 NBS	Meeting with H. Suckle re: medical examination before trial preparation.	2.50 575.00/hr	1,437.50
10/23/2013 NBS	Telephone conference with court re: oral argument date; telephone call with Walter Kretz re: same; conference with co-counsel; telephone call and email to client; telephone J. Eterno re: status and Monell issues (alleged conflict of interest issue raised by Law Dept in the past); review of Jamaica Hospital records; email with prior counsel re: substitution and document search.	3.50 575.00/hr	2,012.50
10/24/2013 NBS	Prepared for examination before trial of Dr. Bernier.	5.50 575.00/hr	3,162.50
10/25/2013 NBS	Appearance for Bernier examination before trial; wait for response from Court on video objection; meeting with team.	3.20 575.00/hr	1,840.00
10/27/2013 NBS	Research on dangerous assessment.	3.00 575.00/hr	1,725.00
10/28/2013 NBS	Telephone conference with client re: status; emails re: schedule and video objections.	0.80 575.00/hr	460.00
10/29/2013 NBS	Preparation for examination before trial of Mauriello; review of research on video use conference with 10-10.	5.80 575.00/hr	3,335.00

		Hrs/Rate	Amount
10/30/2013 NBS	Telephone conference with client (1.0); email opposing counsel re: adjournment on Mauriello; review of emails; review of Mauriello testimony in Floyd case; review of AS personnel file records for examination before trial (2.0)	4.50 575.00/hr	2,587.50
11/1/2013 NBS	Telephone conference with client; telephone call to John Lenoir re: Stop and Frisk; status.	0.50 575.00/hr	287.50
11/3/2013 NBS	Review of Lauterborn recordings and preparation for his examination before trial.	4.20 575.00/hr	2,415.00
11/4/2013 NBS	Prepare for examination before trial.	2.50 575.00/hr	1,437.50
11/5/2013 NBS	Review of record; prepare for Lauterborn examination before trial	4.50 575.00/hr	2,587.50
11/7/2013 NBS	Prepare for and take examination before trial of Lauterborn; conference with team; telephone call with client re: status.	9.50 575.00/hr	5,462.50
11/8/2013 NBS	Meeting with investigator (1.0); telephone call same and Mag (0.5); review of research and emails.	3.50 575.00/hr	2,012.50
11/14/2013 NBS	Email in reference to Daily News Article; telephone call to Mag Bauza re: interview with Carol Street.	1.20 575.00/hr	690.00
11/15/2013 NBS	Prepare for Mauriello.	2.50 575.00/hr	1,437.50
11/19/2013 NBS	Telephone conference with B. Shaffer re: Larry Schoolcraft examination before trial re: examination before trial of Larry Schoolcraft; prep for ebts of polce defendants	2.20 575.00/hr	1,265.00
11/20/2013 NBS	Prepare for Marino examination before trial.	2.50 575.00/hr	1,437.50
11/21/2013 NBS	Prepare for Marino examination before trial.	2.50 575.00/hr	1,437.50
11/22/2013 NBS	Prepare for and appear at Mauriello examination before trial (busted by defendant).	3.50 575.00/hr	2,012.50
11/26/2013 NBS	Drafting notices for depositions; review of email.	1.00 575.00/hr	575.00
12/1/2013 NBS	Review of Caughey, Weiss and Hanlon recordings; prepare for Caughey examination before trial; telephone conference re: status (left message).	2.80 575.00/hr	1,610.00

		Hrs/Rate	Amount
12/2/2013 NBS	Telephone conference with W. Kretz re: Mauriello; telephone conference with John Lenoir re: status; call to client re: same; emails with counsel re: status and discovery deadline.	2.50 575.00/hr	1,437.50
12/4/2013 NBS	Letter to opposing counsel; email to opposing counsel re numerous discovery disputes.	1.50 575.00/hr	862.50
12/6/2013 NBS	Emails re: status; prepare opposition to motion for reconsideration.	3.50 575.00/hr	2,012.50
12/7/2013 NBS	Telephone conference with client and John Lenoir; prepare for Caughey examination before trial; prepare for opposition to Mauriello reconsideration.	2.80 575.00/hr	1,610.00
12/8/2013 NBS	Prepare for Caughey examination before trial.	2.50 575.00/hr	1,437.50
12/9/2013 NBS	Take examination before trial of Caughey.	7.50 575.00/hr	4,312.50
12/17/2013 NBS	Prepare for examination before trial of Mauriello; review of recent correspondence.	3.50 575.00/hr	2,012.50
12/18/2013 NBS	Prepare for Mauriello; conference with co-counsel, telephone call to client re: status.	4.50 575.00/hr	2,587.50
12/19/2013 NBS	Prepare for Mauriello.	3.50 575.00/hr	2,012.50
12/20/2013 NBS	Take examination before trial of Mauriello.	8.50 575.00/hr	4,887.50
12/24/2013 NBS	Meeting with client and John Lenoir re: status and possible settlement demand.	3.20 575.00/hr	1,840.00
12/29/2013 NBS	Meeting with client to review various tape recording.	4.50 575.00/hr	2,587.50
12/30/2013 NBS	Meeting with client and review various tape recordings (4.3); obtain tape recorder from NYPD and send to specialist for enhancement	4.50 575.00/hr	2,587.50
12/31/2013 NBS	Review of production; research on compstat.	1.80 575.00/hr	1,035.00
1/1/2014 NBS	Review of Silverman and Eterno book	4.50 575.00/hr	2,587.50
1/2/2014 NBS	Meeting with client re: review of tapes; telephone conference with co-counsel; emails re: schedule; letter to Court re: schedule	1.80 575.00/hr	1,035.00

		Hrs/Rate	Amount
1/3/2014 NBS	Prepare for Boston and Huffman examination before trial	4.50 575.00/hr	2,587.50
1/5/2014 NBS	Prepare for Boston and Huffman examination before trial.	3.70 575.00/hr	2,127.50
1/6/2014 NBS	Prepare for and take examination before trial of Boston and Huffman; meeting with team re: status and going forward	10.50 575.00/hr	6,037.50
1/8/2014 NBS	Letter to Court; email re: scheduling	0.20 575.00/hr	115.00
1/12/2014 NBS	Prepare for Hanlon examination before trial	3.50 575.00/hr	2,012.50
1/13/2014 NBS	Prepare for and take Hanlon examination before trial; conference with team re: examination before trial and case	8.50 575.00/hr	4,887.50
1/15/2014 NBS	Appearance in court; conference with co-counsel; email re: status	2.30 575.00/hr	1,322.50
1/16/2014 NBS	Review of production; review of report on crime reporting; emails re: status of examination before trial	3.50 575.00/hr	2,012.50
1/17/2014 NBS	Review of documents produced; review of report of crime reporting; review of prior discovery demands	3.50 575.00/hr	2,012.50
1/23/2014 NBS	Prepare documents for supplemental production; long status conference with client re: need for AEO production and status of case (1.3)	1.90 575.00/hr	1,092.50
1/24/2014 NBS	Produce documents	0.40 575.00/hr	230.00
1/27/2014 NBS	Revising letter to website responders; sending out same; letter to City Defendants re: examination before trial	1.20 575.00/hr	690.00
1/28/2014 NBS	Prepare for Dr. Lamstein	3.50 575.00/hr	2,012.50
1/29/2014 NBS	Prepare for Dr. Lamstein	2.30 575.00/hr	1,322.50
1/30/2014 NBS	Prep for and take Dr. Lamstein examination before trial	9.50 575.00/hr	5,462.50
2/3/2014 NBS	Telephone conference with co-counsel; email reference examination before trial.	0.50 575.00/hr	287.50
2/5/2014 NBS	Telephone conference with client; emails reference examination before trial; and letter to Judge Sweet.	0.80 575.00/hr	460.00

		Hrs/Rate	Amount
2/7/2014 NBS	Email regarding status with client; meeting with Mag in reference to redaction issues; letter to Law Department reference redaction; drafting and revising discovery demands.	3.50 575.00/hr	2,012.50
2/10/2014 NBS	Telephone conference with the court clerk reference submission on February 10, 2014; letter to court; prepare for doctor's examination before trial (2.8)	3.80 575.00/hr	2,185.00
2/11/2014 NBS	Prepare for and attend Dr. Bernier examination before trial.	8.50 575.00/hr	4,887.50
2/12/2014 NBS	Prepare for and attend Dr. Isakov examination before trial.	9.50 575.00/hr	5,462.50
2/16/2014 NBS	Telephone conference with John Lenoir and client reference status; review of privilege issues.	1.70 575.00/hr	977.50
2/18/2014 NBS	Review of examination before trial for discovery letter; emails reference defendant's examination before trial and Norinsberg termination letter; request JHMC provide and produce the two EMT's.	3.80 575.00/hr	2,185.00
2/19/2014 NBS	Telephone conference with co-counsel (HS) reference medical case; state action; pro and sub due process; review of emails reference discovery status; telephone call to John Lenoir reference same.	2.50 575.00/hr	1,437.50
2/20/2014 NBS	Email co-counsel; client review of examination before trial for motion.	2.80 575.00/hr	1,610.00
2/21/2014 NBS	Review of cited psychiatric journals.	2.50 575.00/hr	1,437.50
2/23/2014 NBS	Review of examination before trial; telephone co-counsel; telephone conference with client reference status.	3.50 575.00/hr	2,012.50
2/24/2014 NBS	Review of examination before trial; email reference recording.	0.40 575.00/hr	230.00
2/25/2014 NBS	Review of examination before trial; transcripts for discovery issues; telephone call to Walter Kretz (two times) regarding possible work out.	5.00 575.00/hr	2,875.00
2/27/2014 NBS	Drafting letters to court re outstanding disocvery disputes by plaintiff and by defendants	3.50 575.00/hr	2,012.50
2/28/2014 NBS	Letter motion regarding discovery issue.	6.50 575.00/hr	3,737.50
3/3/2014 NBS	Review of emails and letters.	0.50 575.00/hr	287.50

		Hrs/Rate	Amount
3/4/2014 NBS	Prepare for and attend meeting to confer; emails reference status same.	1.50 575.00/hr	862.50
3/8/2014 NBS	Review of letters on discovery motions; email to team reference response.	1.20 575.00/hr	690.00
3/11/2014 NBS	Meeting with team John Lenoir and Mag Bauza; drafting letter to court.	2.30 575.00/hr	1,322.50
3/24/2014 NBS	Meeting with team; telephone call with client.	3.50 575.00/hr	2,012.50
3/26/2014 NBS	Review of drafts 30(b)(6); appear in court on discovery status (2.2); telephone call client; review of document demands; meet and confer with opposing counsel (1.0).	3.80 575.00/hr	2,185.00
3/27/2014 NBS	Telephone conference with client (twice) re subject matters of numerous 30(b)(6) notices; revising same.	3.50 575.00/hr	2,012.50
3/28/2014 NBS	Meeting with Mag reference jury instructions; telephone call with client reference 30(b)(6); revising same and serving same.	4.50 575.00/hr	2,587.50
3/31/2014 NBS	Telephone conference with client; review of discovery; emails reference settlement.	1.80 575.00/hr	1,035.00
4/1/2014 NBS	Telephone conference with City re: settlement; telephone conference with client; conference with team re: same.	1.50 575.00/hr	862.50
4/4/2014 NBS	Review of medical expert decisions and affidavit; prepare for Trainor examination before trial.	2.50 575.00/hr	1,437.50
4/7/2014 NBS	Prepare motion to strike paragraph six of Mauriello's counterclaim (1.3); prepare outline of discovery issues; telephone call to D. Beekman (Daily News); telephone conference Graham Raymond; telephone MJ Freeman's chambers; email all counsel.	2.50 575.00/hr	1,437.50
4/8/2014 NBS	Prepare for Trainor examination before trial.	2.80 575.00/hr	1,610.00
4/9/2014 NBS	Preparing for hearing on Raymond motion to compel; appearance in court on motion (2.2); prepare for Trainor and Gough examination before trial.	2.80 575.00/hr	1,610.00
4/10/2014 NBS	Prepare for and take deposition of Trainor; prepare for Gough examination before trial.	8.90 575.00/hr	5,117.50
4/11/2014 NBS	Prepare for and take Gough examination before trial.	7.80 575.00/hr	4,485.00
4/13/2014 NBS	Prepare for and meet with potential expert (Roy Lubit).	4.50 575.00/hr	2,587.50

		Hrs/Rate	Amount
4/14/2014 NBS	Telephone conference with co-counsel re: status; conference with client; emails with opposing counsel re: new dates for settlement demands/offers/conference; draft letter to MJ Freeman re: same; email Hearn.	1.80 575.00/hr	1,035.00
4/15/2014 NBS	Telephone conference with H. Suckle re: status and settlement.	0.30 575.00/hr	172.50
4/16/2014 NBS	Telephone conference with team (1.0); conference with client resettlement demands (1.2); research on commitment cases; state action and Section 1983; review of Plaintiff's demands.	5.80 575.00/hr	3,335.00
4/17/2014 NBS	Telephone conference with team; review of decisions; telephone Mag; telephone Howard; telephone John; letter to all defendants counsel re: Norinsberg termination letter; telephone call to S. Mettham re: settlement.	2.90 575.00/hr	1,667.50
4/18/2014 NBS	Various telephone calls with John Lenoir; telephone client; review of decisions on involuntary hospital and damages.	3.50 575.00/hr	2,012.50
4/22/2014 NBS	Telephone conference with Joe Ferrero.	0.50 575.00/hr	287.50
4/23/2014 NBS	Drafting opposition to Jamaica Hospital motion for protective order; prepare for and attend examination before trial of Bernier	8.50 575.00/hr	4,887.50
4/24/2014 NBS	Prepare for Sawyer examination before trial (3.0); revise opposition to Jamaica Hospital protective order motion.	3.50 575.00/hr	2,012.50
4/25/2014 NBS	Prepare for and take deposition of Sawyer.	6.50 575.00/hr	3,737.50
4/27/2014 NBS	Preparing reply to Mauriello opposition	2.80 575.00/hr	1,610.00
4/28/2014 NBS	Prepare for and take Duncan examination before trial and conference with all counsel and MJ Freeman re: settlement discussion.	7.80 575.00/hr	4,485.00
4/29/2014 NBS	Review of state motion cases; meeting with co-counsel; call to client.	2.50 575.00/hr	1,437.50
4/30/2014 NBS	Appearance in court on JHMC motion for protective order and Adrian's motion to strile Mauriello counterclaims reference (2.2); prepare for same; lunch meeting with team and colleague of John's re: case.	3.80 575.00/hr	2,185.00
5/2/2014 NBS	Telephone conference with Gregory Radomsile reference examination before trial; emails to opposing counsel re: same.	0.80 575.00/hr	460.00

		Hrs/Rate	Amount
5/5/2014 NBS	Telephone conference with Sheri; telephone call to John Lenoir; prepare letter to Judge Sweet re: Plaintiff's motion to compel; telephone to John Cohen re: fees; review of Gleason fees.	2.20 575.00/hr	1,265.00
5/8/2014 NBS	Prepare for conference; attend to conference with Magistrate Freeman re: settlement: hospital defendant have no pay status and City willing to continue discussions; email client re: status; revising letter to Judge; review of opinion on Mauriello counterclaim/motion to strike Plaintiff (0.5); research on law enforcement privileged(1.0).	4.50 575.00/hr	2,587.50
5/11/2014 NBS	Prepare for James examination before trial.	3.50 575.00/hr	2,012.50
5/12/2014 NBS	Prepare for and take James examination before trial.	6.80 575.00/hr	3,910.00
5/13/2014 NBS	Travel to Holbrook and meet with Ferrara and his wife.	5.50 575.00/hr	3,162.50
5/14/2014 NBS	Prepare and take examination before trial of Marquez.	8.40 575.00/hr	4,830.00
5/15/2014 NBS	Prepare for and take examination before trial of Sangetti (4.5); emails with client re: status and settlement (0.5).	5.00 575.00/hr	2,875.00
5/19/2014 NBS	Review of production; prepare for meeting with client; telephone call with co-counsel; research on discovery issues (law enforcement privilege).	3.80 575.00/hr	2,185.00
5/20/2014 NBS	Travel to and from Johnstown, NY meeting with client; conference with Magistrate Freeman; ex-parte conference with Magistrate Freeman.	11.50 575.00/hr	6,612.50
5/22/2014 NBS	Drafting opposition to City motion for protective order and cross-motion for documents; research on same.	8.50 575.00/hr	4,887.50
5/23/2014 NBS	Research on blue wall silence (2.5); telephone call to potential witness (Stephen Lerner); telephone to Lubit; email team; email client; review of document production; telephone conference with Jon Norinsberg re: 81 locker photos.	4.50 575.00/hr	2,587.50
5/28/2014 NBS	Prepare for conference of motion; appear on motion before Judge Sweet (2.8); telephone call to Dr. Lubit; telephone call to the office of Eterno; conference with all counsel re: schedule and need 30-45 days; prepare for Weiss examination before trial; conference with team re: Weiss; telephone Jon Norinsberg re: locker photos.	8.50 575.00/hr	4,887.50
5/29/2014 NBS	Prepare for Weiss; take Weiss examination before trial; prepare for JHMC.	9.50 575.00/hr	5,462.50

		Hrs/Rate	Amount
5/30/2014 NBS	Prepare for and take examination before trial of Jamaica Hospital (Maffia)	4.50 575.00/hr	2,587.50
6/2/2014 NBS	Telephone conference with client; emails with opposing counsel re: discovery; reviewing production for index.	1.80 575.00/hr	1,035.00
6/3/2014 NBS	Email regarding plan for discovery; production of Aetna documents and docket photos; telephone call to J. Ferrara re: examination before trial for 6/5/14.	1.50 575.00/hr	862.50
6/4/2014 NBS	Prepare for Ferrara examination before trial; telephone conference with co-counsel re: same.	3.20 575.00/hr	1,840.00
6/5/2014 NBS	Meeting with team and J. Ferrara; attend deposition of J. Ferrara at Law Department; drafting discovery demands for Mauriello.	9.50 575.00/hr	5,462.50
6/6/2014 NBS	Prepare discovery demands re: Mauriello (1.5); conference call with John Eterno; Eli Silverman and team re: expert issues (compstat, blue wall, and digital recorder); review of New York City conflict of interest issue, law, decision (1.2)	3.20 575.00/hr	1,840.00
6/8/2014 NBS	Revising discovery demand for Mauriello counterclaim.	1.20 575.00/hr	690.00
6/9/2014 NBS	Telephone conference with client re: status of case.	2.00 575.00/hr	1,150.00
6/10/2014 NBS	Drafting demands on Mauriello; drafting letter to court re: amended discovery schedules.	0.80 575.00/hr	460.00
6/11/2014 NBS	Travel to Rhode Island and meet with Dr. Dan re: ER expert.	6.50 575.00/hr	3,737.50
6/12/2014 NBS	Continue meeting with Dr. Dan re: ER expert; review parts of PX69 and home invasion recording with expert; revised and drafted discovery demand; travel back to New York.	7.50 575.00/hr	4,312.50
6/13/2014 NBS	Telephone conference with Eli Silverman and John Eterno re: expert discovery schedule (1.0); review of conflict laws; telephone call to Mag Bauza; telephone to John Lenoir; memo to file on ER expert (.5)	4.50 575.00/hr	2,587.50
6/16/2014 NBS	Review of city letter re: supplemental discovery; conference with co-counsel.	0.80 575.00/hr	460.00
6/17/2014 NBS	Prepare for Broschart.	3.50 575.00/hr	2,012.50
6/18/2014 NBS	Prepare for and take Broschart re: examination before trial.	7.80 575.00/hr	4,485.00

		Hrs/Rate	Amount
6/19/2014 NBS	Review of scheduling order; email with team re: schedule; email Dr. Lubit; review of Patrol Guide; prepare for Duncan examination before trial (3.0)	4.50 575.00/hr	2,587.50
6/20/2014 NBS	Draft opposition to reconsider; review of Duncan examination before trial; prepare for Duncan.	4.50 575.00/hr	2,587.50
6/23/2014 NBS	Telephone conference with client (log) re: status; prepare for and take examination of Duncan; emails with opposing counsel re: schedule; telephone call to Dr. Patel.	7.50 575.00/hr	4,312.50
6/26/2014 NBS	Emails with opposing counsel re: schedule; conference with co-counsel re: same.	0.50 575.00/hr	287.50
6/27/2014 NBS	Review of Mauriello examination before trial; telephone call to Dr. Roy Lubit; and prepare for Mauriello examination before trial.	3.50 575.00/hr	2,012.50
6/28/2014 NBS	Review of Mauriello examination before trial; review of Lubit affirmation in Monaco.	4.50 575.00/hr	2,587.50
6/29/2014 NBS	Review of Mauriello examination before trial; prepare for continued examination before trial of Mauriello (4.5); conference with client restatus; email Dr. Lubit; email John Lenoir.	7.50 575.00/hr	4,312.50
7/1/2014 NBS	Prepare and take Mauriello examination before trial.	9.50 575.00/hr	5,462.50
7/3/2014 NBS	Prepare and take Dr. Lwin examination before trial; meeting with team re: expert report; lunch with team.	3.80 575.00/hr	2,185.00
7/6/2014 NBS	Prepare for Jamaica Hospital ebt (Dhar) on policy issue.	3.80 575.00/hr	2,185.00
7/7/2014 NBS	Take and prepare for Jamaica Hospital examination before trial.	7.50 575.00/hr	4,312.50
7/9/2014 NBS	Telephone conference with police experts.	0.80 575.00/hr	460.00
7/14/2014 NBS	Prepare for examination before trial of City 30(b)(6) witnesses.	1.50 575.00/hr	862.50
7/15/2014 NBS	Prepare for 30(b)(6) of witnesses on appeal; review and quatoa issues; prepare for City examination before trial on training; disciplines and crime reporting.	3.20 575.00/hr	1,840.00
7/16/2014 NBS	Take deposition 30(b)(6) witnesses of City in the morning and afternoon; prepare for same; conference with co-counsel; conference with court clerk; prepare for examination before trial next day.	9.50 575.00/hr	5,462.50

		Hrs/Rate	Amount
7/17/2014 NBS	Prepare for and take examination before trial of City 30(b)(6) witnesses on performance evaluation of supervisors and of police officers.	6.50 575.00/hr	3,737.50
7/18/2014 NBS	Review of prior arguments and submissions discussions outstanding; conference with Dr. Halpern and team.	3.50 575.00/hr	2,012.50
7/21/2014 NBS	Drafting letter to Court; review of transcript of prior hearing; research on legal issues raised by objections and Purpi examination before trial.	3.40 575.00/hr	1,955.00
7/22/2014 NBS	Telephone conference with client and team; prepare letter.	2.50 575.00/hr	1,437.50
7/23/2014 NBS	Prepare for examination before trial on Thursday; review of recent City production; emails with opposing counsel re: examination before trial.	4.50 575.00/hr	2,587.50
7/24/2014 NBS	Prepare for and attend City 30(b)(6) (cooper); prepare for examination before trial for Dr. Patel; conference with client.	7.50 575.00/hr	4,312.50
7/25/2014 NBS	Prepare and take examination of trial of Dr. Patel; draft letter to Court on application re: Dr. Patel.	3.50 575.00/hr	2,012.50
7/28/2014 NBS	Review of Dr. Lwin examination before trial; review letter from Jamaica Hospital.	1.20 575.00/hr	690.00
7/29/2014 NBS	Emails and telephone conference with client and re: experts; review of letters to Court.	1.20 575.00/hr	690.00
7/30/2014 NBS	Telephone conference with John and Eli re: expert report.	0.80 575.00/hr	460.00
7/31/2014 NBS	Review of earlier Silverman book on NYPD (2.8); drafting letter to Judge Sweet; review of letter re: outstanding; telephone conference with trial team and Dr. Lubit and Dr. Halpern.	5.50 575.00/hr	3,162.50
8/1/2014 NBS	Review of letters on numerous discovery disputes; review of videos of Dr. Patel's examination before trial; drafting letter on three motion letter.	7.50 575.00/hr	4,312.50
8/3/2014 NBS	Review and revise letter to Court; research on deposition conduct re: definition of harassment.	5.80 575.00/hr	3,335.00
8/4/2014 NBS	Drafting letter re: 3 discovery motions; long conference call with experts Silverman and Eterno (1.5); preparing letter for experts on police issues and transmitting documents to experts (2.5)	7.50 575.00/hr	4,312.50
8/5/2014 NBS	Revise letter to Court on 3 motions; draft second letter re: video objection.	3.20 575.00/hr	1,840.00

		Hrs/Rate	Amount
8/6/2014 NBS	Telephone conference with Mag Bauza to do list; meeting with John Lenoir re: same; revise letter to Court re: video objection.	1.50 575.00/hr	862.50
8/7/2014 NBS	Review of report; telephone call to John Eterno re: same.	1.20 575.00/hr	690.00
8/8/2014 NBS	Review of reports of experts (police and ER); review of record from psychiatric experts.	3.50 575.00/hr	2,012.50
9/2/2014 NBS	Meeting with co-counsel; review of decisions on discovery; emails re: scheduling with experts; telephone call with Roy Lubit re: same.	1.50 575.00/hr	862.50
9/3/2014 NBS	Email to all counsel re: schedule; telephone call with Eli Silverman.	0.70 575.00/hr	402.50
9/5/2014 NBS	Review of time limitation issues for examination before trials.	1.50 575.00/hr	862.50
9/10/2014 NBS	Telephone conference with all counsel.	0.50 575.00/hr	287.50
9/11/2014 NBS	Reply to Defendants' letter motion on experts; letter to all counsel re: expert fees to be paid; review of cases on same.	3.50 575.00/hr	2,012.50
9/12/2014 NBS	Travel to Upstate, NY to meet with client; meeting with clientc	4.50 575.00/hr	2,587.50
NBS	Prepare for meeting with client; outline summary judgment motions; causes of action.	2.50 575.00/hr	1,437.50
9/13/2014 NBS	Meeting all day with client, John Lenoir and Magdalena Bauza re summary jugdment motions; motion to amend; wages/damages issues; trial plans; expert discovery and reports	7.50 575.00/hr	4,312.50
9/14/2014 NBS	Meeting with client; return travel to New York	7.50 575.00/hr	4,312.50
9/16/2014 NBS	Telephone conference with experts; conference with co-counsel; emails re: schedule with all counsel.	1.80 575.00/hr	1,035.00
9/17/2014 NBS	Prepare for and take Purpi examination before trial.	3.50 575.00/hr	2,012.50
9/18/2014 NBS	Prepare for examination before trial; telephone call with Walter Kretz; telephone conference with Roy Lubit; review of expert reports served today and with co-counsel.	3.50 575.00/hr	2,012.50
9/19/2014 NBS	Prepare for and attaend Carrasco ebt	5.50 575.00/hr	3,162.50

		Hrs/Rate	Amount
9/20/2014 NBS	Review of medical expert reports by Jamaica Hospital Medical Center; Bernier and Isakov.	2.20 575.00/hr	1,265.00
9/21/2014 NBS	Meeting with John Lenoir and Mag Bauza; meeting with Lubit re: examination before trial preparation.	3.50 575.00/hr	2,012.50
9/22/2014 NBS	Email regarding schedule; telephone call with John Eterno.	0.40 575.00/hr	230.00
9/23/2014 NBS	Prep for and attend examination before trial of Roy Lubit; call to court re: schedule.	8.00 575.00/hr	4,600.00
9/24/2014 NBS	Telephone conference with Roy Lubit; telephone call with John Lenoir; review of emails; letter to court re: motion by city.	1.70 575.00/hr	977.50
9/25/2014 NBS	Drafting opposition to discover motion.	3.50 575.00/hr	2,012.50
9/26/2014 NBS	Review of production for motion to compel; telephone call with co-counsel; message from Dr. Lubit.	2.20 575.00/hr	1,265.00
9/29/2014 NBS	Meeting with Dr. Halpern Ruder and John Lenoir; prepare for examination before trial; review of CompSTAT notes.	5.80 575.00/hr	3,335.00
9/30/2014 NBS	Appear for and defendant Ruder examination before trial; prepare for conference the following day; review of CompSTAT notes.	8.90 575.00/hr	5,117.50
10/2/2014 NBS	Email re: scheduling Silverman and Lubit; conference call with John Lenoir and Mag Bauza re: trial prep review of CompStat notes.	4.50 575.00/hr	2,587.50
10/3/2014 NBS	Legal research on Monell issues (1.8) meeting with Mag and John Lenoir; emails re: trial date; conference with client re: status and trial date; review of Nelson discover records (1.5); review of Patrol Guide; review of CompStat notes (2.0); prep motion for discovery.	6.50 575.00/hr	3,737.50
10/6/2014 NBS	Drafting motion for discovery; drafting letter re: opposition to adjourn for trial date; emails with opposing counsel; scheduling Patel examination before trial; telephone call to the clerk for Patel's attorney.	5.50 575.00/hr	3,162.50
10/7/2014 NBS	Draft motion on discovery.	4.50 575.00/hr	2,587.50
10/8/2014 NBS	Review of Floyd record; research on witness list issues; telephone call with Dr. Dan Halpern; email correspondences Silverman and Eterno.	7.50 575.00/hr	4,312.50
10/9/2014 NBS	Telephone conference with client; review of Eterno production; email re: same; review of Floyd trial.	4.50 575.00/hr	2,587.50

		Hrs/Rate	Amount
10/10/2014 NBS	Review of Floyd transcripts and decision.	4.50 575.00/hr	2,587.50
10/14/2014 NBS	Meeting with Eterno (2.5); travel to Hempstead (2.0); review of Rule 68 offer (.5); review of Floyd trial transripts and decision	7.50 575.00/hr	4,312.50
10/15/2014 NBS	Telephone conference with Walter Kretz re: Mauriello; wants a small compensation from Adrian to settle (.3); telephone call to Suzanna Mettham and Ryan Shaffer re: Rule 68 offer (.4); drafting reply letter on discovery motion (3.8); briefing schedule and witness lists.	5.50 575.00/hr	3,162.50
10/16/2014 NBS	Telephone conference with John Lenoir; drafting letter to court on discovery motions/issue (2.8); research on Rule 68 issues (2.5); email re: discovery schedule.	6.50 575.00/hr	3,737.50
10/17/2014 NBS	Appear for and defend Eterno examination before trial; revise and file letter with court re: outstanding discovery issues.	9.50 575.00/hr	5,462.50
10/18/2014 NBS	Research on Rule 68; draft and send memo to client re: Rule 68 offer; telephone client re: same; telephone call to John Lenoir re: same.	3.50 575.00/hr	2,012.50
10/19/2014 NBS	Review of 2nd Amended Complaint for purpose of motion to amend; conference call with team re: Rule 68 offer; email exchange with Howard Suckle re: same.	4.50 575.00/hr	2,587.50
10/20/2014 NBS	Telephone conference with with John Eterno (1.5) re: examination before trial and case; telephone call with chambers re: next conference; emails re: same; revising pleading for purpose of motion; review of case law on right to refuse medical treatment (1.5).	3.80 575.00/hr	2,185.00
10/21/2014 NBS	Review of right to refuse medical treatment cases; emails re: schedule; telephone to Eli Silverman re: his examination before trial.	3.70 575.00/hr	2,127.50
10/22/2014 NBS	Meeting with Eli Silverman to prepare for examination before trial.	3.50 575.00/hr	2,012.50
10/23/2014 NBS	Prepare for Silverman; telephone call to Silverman (2 times); review of report; draft letter rejecting Rule 68 offer.	6.50 575.00/hr	3,737.50
10/24/2014 NBS	Defend Silverman's examination before trial.	7.50 575.00/hr	4,312.50
10/25/2014 NBS	Research on criminal standard for exigent circumstances.	3.00 575.00/hr	1,725.00
10/26/2014 NBS	Revise letter re: rejection of Rule 68 offer.	1.00 575.00/hr	575.00

		Hrs/Rate	Amount
10/27/2014 NBS	Meeting with John Lenoir re: amended complaint; review of emails; telephone call to Investigator Skinner; email with Silverman review of discovery record on complaint; review of tapes re: Amended Complaint.	5.80 575.00/hr	3,335.00
10/28/2014 NBS	Prepare revisions to 2nd Amended Complaint for motion to arrest; research on issues relating to motion to amend.	6.80 575.00/hr	3,910.00
10/29/2014 NBS	Prepare for court; appear in court; conference with client and John Lenoir re: status.	4.50 575.00/hr	2,587.50
10/30/2014 NBS	Prepare for Patel examination before trial; research warrantless entry and search.	3.50 575.00/hr	2,012.50
10/31/2014 NBS	Prepare for and take 2nd examination before trial of Dr. Patel (3.2); research on causes of action for motions to amend and summary judgment.	5.50 575.00/hr	3,162.50
11/1/2014 NBS	Research on exigent circumstances case law.	3.50 575.00/hr	2,012.50
11/3/2014 NBS	Research an existing cir. case law (3.0); telephone conference with Roy Lubit; emails with opposing counsel; revised 2nd Amended Complaint for motion to amend.	3.80 575.00/hr	2,185.00
11/4/2014 NBS	Drafting motion to amend; letter to court re: page limit; email client re: status.	3.50 575.00/hr	2,012.50
11/5/2014 NBS	Drafting motion to amend.	3.50 575.00/hr	2,012.50
11/6/2014 NBS	Telephone conference with client re: amending complaint.	2.50 575.00/hr	1,437.50
11/7/2014 NBS	Meeting with S. Korenbaum; emails re: status; telephone call with Dr. Lubit.	2.20 575.00/hr	1,265.00
11/10/2014 NBS	Telephone conference with Dr. Lubit; attend and defend examination before trial of Dr. Lubit at Martin Clearwater; review of draft Amended Complaint; research on 4th Amendment warrantless entry (1.5)	5.20 575.00/hr	2,990.00
11/11/2014 NBS	Telephone conference with paralegal (JS) re: case; review of ebt summaries.	1.50 575.00/hr	862.50
11/13/2014 NBS	Appear and defend Dr. Lubit; conference re: examination before trial with witness.	5.50 575.00/hr	3,162.50
11/14/2014 NBS	Review of examination before trial summaries and indexes.	1.50 575.00/hr	862.50

		Hrs/Rate	Amount
11/16/2014 NBS	Revise complaint; email re: same.	1.00 575.00/hr	575.00
11/19/2014 NBS	Review of examination before trial of Lauterborn and Mauriello on questions about evaluations; email client re: same.	0.80 575.00/hr	460.00
11/20/2014 NBS	Review of file in Azira case on Blue Wall.	1.50 575.00/hr	862.50
11/21/2014 NBS	Emails re: Lubit; review of Azira files.	2.50 575.00/hr	1,437.50
12/1/2014 NBS	Revising motion to amend	2.50 575.00/hr	1,437.50
12/2/2014 NBS	Revise memo re: motion to amend.	3.50 575.00/hr	2,012.50
12/3/2014 NBS	Revising 3rd Amended Complaint and Memo Of Law In Support Of Motion To Amend.	3.50 575.00/hr	2,012.50
12/4/2014 NBS	Revising Amended Complaint and Memo on motion to amend; began review of depositions for summary judgment motion.	4.50 575.00/hr	2,587.50
12/5/2014 NBS	Review of letters; review of Duncan transcripts, emails with team re: status.	1.80 575.00/hr	1,035.00
12/7/2014 NBS	Review of examination before trial record.	5.50 575.00/hr	3,162.50
12/8/2014 NBS	Drafting letter to Court re: motion to amend; review of examinations before trial for motion for summary judgment.	3.50 575.00/hr	2,012.50
12/9/2014 NBS	Drafting letter to Court re: defendants' motion to adjourn trial and summary judgment; review of examinations before trial for summary judgment motion; review of Compstat video.	5.50 575.00/hr	3,162.50
12/10/2014 NBS	Review of examination before trial for preparation of motions meeting with John Lenoir re: motions.	8.50 575.00/hr	4,887.50
12/11/2014 NBS	Review of examination before trial for summary judgment motion; conference with M. Bauza re: JHMC claims; review of cases.	5.50 575.00/hr	3,162.50
12/12/2014 NBS	Review of record for summary judgment motion.	3.50 575.00/hr	2,012.50
12/13/2014 NBS	Research on exig. cir. exception.	3.50 575.00/hr	2,012.50
12/14/2014 NBS	Review of examination for summary judgment facts; review of exig. cir. cases; review of prima facie tort and tortuous interference case.	5.50 575.00/hr	3,162.50

		Hrs/Rate	Amount
12/15/2014 NBS	Research on Mauriello counterclaims.	3.80 575.00/hr	2,185.00
12/16/2014 NBS	Drafting summary judgment motion.	7.50 575.00/hr	4,312.50
12/17/2014 NBS	Drafting summary judgment motion.	10.50 575.00/hr	6,037.50
12/18/2014 NBS	Drafting summary judgment motion.	12.00 575.00/hr	6,900.00
12/19/2014 NBS	Drafting motion for summary judgment.	10.50 575.00/hr	6,037.50
12/20/2014 NBS	Drafting summary judgment memo.	9.50 575.00/hr	5,462.50
12/21/2014 NBS	Drafting summary judgment motion.	7.50 575.00/hr	4,312.50
12/22/2014 NBS	Draft motions; memo; Rule 56.1 Statement; conference with client re: sealing and objection to it; letters (2x) Court.	12.50 575.00/hr	7,187.50
12/23/2014 NBS	Revising and filing paper; review of paper.	7.50 575.00/hr	4,312.50
12/24/2014 NBS	Preparing motion papers	3.50 575.00/hr	2,012.50
12/29/2014 NBS	Drafting Reply Memo on motion to amend.	5.50 575.00/hr	3,162.50
12/30/2014 NBS	Researching motion for summary judgment.	2.50 575.00/hr	1,437.50
NBS	Telephone conference with John Lenoir; telephone call to client re: Norinsberg; drafting summary judgment; review of new material.	9.50 575.00/hr	5,462.50
12/31/2014 NBS	Draft opposition to summary judgment.	7.50 575.00/hr	4,312.50
1/1/2015 NBS	Review of motions by defendants.	5.50 575.00/hr	3,162.50
1/3/2015 NBS	Reading City motion and case law.	5.50 575.00/hr	3,162.50
1/4/2015 NBS	Reading Mauriello and JHMC motions and case law.	8.20 575.00/hr	4,715.00

		Hrs/Rate	Amount
1/5/2015 NBS	Review of motions; review of recent production by City (videos and EIU file); conference with John Lenoir and Mag Bauza re: motions.	5.50 575.00/hr	3,162.50
1/7/2015 NBS	Reviewing motions; meeting with John Lenoir; J. Mck; J.S re: Compstat videos.	4.50 575.00/hr	2,587.50
1/8/2015 NBS	Telephone conference with Howard Suckle (.3); meeting with Mag (.1.5); telephone call to Ryan Shaffer; Paul Callan; Gregory Radmosili re: summary judgment schedule; review of Lauterborn examination before trial (4.5)	7.80 575.00/hr	4,485.00
1/9/2015 NBS	Emails re: status; conference with team; conference call with client.	1.50 575.00/hr	862.50
1/10/2015 NBS	Review of examinations before trial and Compstat videos.	7.50 575.00/hr	4,312.50
1/11/2015 NBS	Review of examination before trial and Compstat videos; conference with group on Commpstat videos.	7.50 575.00/hr	4,312.50
1/13/2015 NBS	Compstat vide review	5.50 575.00/hr	3,162.50
1/14/2015 NBS	Conference with client and John Lenoir; review of examination before trial and motions.	7.50 575.00/hr	4,312.50
1/15/2015 NBS	Review of Hanlon examination before trial; review of Marino examination before trial; review of cases in summary judgment motion discussion re: Compstat videos.	4.50 575.00/hr	2,587.50
1/16/2015 NBS	Review of Hanlon examination before trial; review of cases; review of Compstat video.	7.50 575.00/hr	4,312.50
1/17/2015 NBS	Review of examination before trial; prepare summary judgment oppositions.	7.50 575.00/hr	4,312.50
1/18/2015 NBS	Prepare summary judgment opposition; review of Hanlon, Sangianetti, and Marquez examination before trial; review of Compstat videos.	8.50 575.00/hr	4,887.50
1/19/2015 NBS	Review of Compstat videos; review of cases cited in various motions; research on standard of objective/subjective good faith and qualified immunity.	7.50 575.00/hr	4,312.50
1/20/2015 NBS	Review of decision on motion to amend; review of cases on conspiracy; review of examination before trial for motion.	5.50 575.00/hr	3,162.50
1/21/2015 NBS	Drafting summary judgment motion papers (memo of law; rule 56.1 statement); telephone Ryan Shaffer; call Norinsberg re: wants co-counsel to get access to Adrian Schoolcraft's records (medical) in IAB file.	8.50 575.00/hr	4,887.50

		Hrs/Rate	Amount
1/22/2015 NBS	Drafting memo in opposition; telephone call to Walter Kretz; emails re: schedule.	7.50 575.00/hr	4,312.50
1/23/2015 NBS	Research and draft Response to Mauriello summary judgment motion.	9.00 575.00/hr	5,175.00
1/24/2015 NBS	Review of record; research on cases cited by defendants summary judgment motion.	6.50 575.00/hr	3,737.50
1/25/2015 NBS	Review of record for summary judgment motion opposition.	7.50 575.00/hr	4,312.50
1/26/2015 NBS	Drafting opposition papers; research on probable cause.	7.50 575.00/hr	4,312.50
1/27/2015 NBS	Meeting with John and Mag re: summary judgment motion; draft opposition; research on St amendment issues.	9.50 575.00/hr	5,462.50
2/1/2015 NBS	Drafting opposition to motions.	5.50 575.00/hr	3,162.50
2/2/2015 NBS	Telephone conference with Jon Norinsberg (.5); meeting with John Lenoir re to do list for trial(1.2); conference with client and John Lenoir re: trial team; drafting opposition to motion (5.0); telephone call to client re: same; letter to court re: schedule adjustment.	7.80 575.00/hr	4,485.00
2/3/2015 NBS	Review of Monell case law for motion; review of supplemental papers filed by all defendants.	3.50 575.00/hr	2,012.50
2/4/2015 NBS	Email with client; review of cases on Monell liability; review of record (ebt's) on Monell issues.	1.80 575.00/hr	1,035.00
2/5/2015 NBS	Drafting opposition brief.	7.50 575.00/hr	4,312.50
2/6/2015 NBS	Drafting opposition papers.	9.50 575.00/hr	5,462.50
2/7/2015 NBS	Drafting opposition to Jamaica Hospital and doctor motion.	7.80 575.00/hr	4,485.00
2/8/2015 NBS	Drafting opposition to Dr. Bernier and Dr. Isakov's motions; conference with John Lenoir; telephone call with Mag Bauza.	9.50 575.00/hr	5,462.50
2/9/2015 NBS	Drafting opposition motion; conference with John Lenoir (.5) telephone call with Mag Bauza; drafting 56.1 opposition; telephone conference with Brian Lee re: Isakov claims (0.2).	10.50 575.00/hr	6,037.50
2/10/2015 NBS	Opposition motion; telephone conference with Ryan Shaffer; telephone call with Jon Norinsberg; email client.	12.50 575.00/hr	7,187.50

		Hrs/Rate	Amount
2/12/2015 NBS	Telephone conference with client; call with Jon Norinsberg and John Lenoir; emails; telephone call with new city lawyer; review of files under seal; review of opposition motion.	7.50 575.00/hr	4,312.50
2/13/2015 NBS	Review of 5 oppositions to summary judgment motion & meeting with John Lenoir and Mag Bauza re: issues to address (3.5), telephone call to client (2 times); emails re: trial date; telephone to Jon Norinsberf re: meeting and status.	4.50 575.00/hr	2,587.50
2/17/2015 NBS	Review of files on summary judgment papers.	2.50 575.00/hr	1,437.50
2/20/2015 NBS	Meeting with John Lenoir and Mag Bauza; meeting with Jon Norinsberg and his group (Gerald Cohen and Joshua Fitch).	4.80 575.00/hr	2,760.00
2/23/2015 NBS	Meeting with John Lenoir re: reply to Mauriello.	2.50 575.00/hr	1,437.50
2/27/2015 NBS	Preparing reply papers.	5.50 575.00/hr	3,162.50
3/3/2015 NBS	Drafting reply.	7.50 575.00/hr	4,312.50
3/4/2015 NBS	Drafting reply.	10.50 575.00/hr	6,037.50
3/5/2015 NBS	Drafting reply.	10.50 575.00/hr	6,037.50
3/6/2015 NBS	Drafting reply.	9.50 575.00/hr	5,462.50
3/9/2015 NBS	Research on new evidence issue; telephone conference with team; revising letter to Court on Matthews.	4.50 575.00/hr	2,587.50
3/10/2015 NBS	Review of cases on s/i; review of reply submission.	3.50 575.00/hr	2,012.50
3/12/2015 NBS	Research on new evidece and new arguments on reply; meeting with team.	6.50 575.00/hr	3,737.50
3/13/2015 NBS	Meeting with team re: trial preparation; drafting letter to Court.	2.80 575.00/hr	1,610.00
3/15/2015 NBS	Research on motion to strike.	4.50 575.00/hr	2,587.50
3/16/2015 NBS	Drafting motion to strike.	7.50 575.00/hr	4,312.50

		Hrs/Rate	Amount
3/17/2015 NBS	Drafting motion to strike Lamstein Declaration.	5.50 575.00/hr	3,162.50
3/18/2015 NBS	Review of JPTO reqirement; telephone call to Walter Kretz re: status; drafting verdict sheet; prepare for trial; review of subpoenas; meeting witj John Lenoir re: trial lists of witnesses and exhibits.	6.50 575.00/hr	3,737.50
3/20/2015 NBS	Telephone conference with Walter Kretz re: Kickstarter movie; email with trial team re; inquiry.	0.50 575.00/hr	287.50
3/21/2015 NBS	Drafting letter re: Lamstein; Q/F issue and adjournment request; review of exhibit lists for JPTO.	3.50 575.00/hr	2,012.50
3/22/2015 NBS	Review of exhibits for JPTO; revise letter to Court.	3.50 575.00/hr	2,012.50
3/23/2015 NBS	Prepare witness and exhibit list; rewrite letter to Court.	4.50 575.00/hr	2,587.50
3/25/2015 NBS	Emails re: status; conference with Scott Korenbaum re: instructions; telephone conference with John Lenoir and Mag Bauza re: instructions and to do.	3.50 575.00/hr	2,012.50
3/26/2015 NBS	Review of production (discs & cd's) for plaintiff's trial exhibit.	5.50 575.00/hr	3,162.50
3/27/2015 NBS	Review of production for JPTO; emails to opposing counsel; emails to co-counsel re: status.	5.50 575.00/hr	3,162.50
3/29/2015 NBS	Review of discovery record for JPTO and witness cross.	7.50 575.00/hr	4,312.50
3/30/2015 NBS	Review of discovery record for JPTO - exhibits and witness; telephone call to John Lenoir re: witness responsibilities; telephone to Mag Bauza re: jury instructions and diagram.	7.50 575.00/hr	4,312.50
3/31/2015 NBS	Review of discovery for witness list, exhibit list, and JPTO; emails with opposing counsel re: service of subpoenas.	5.50 575.00/hr	3,162.50
4/1/2015 NBS	Email team; telephone call Brown (Daily News) re: status; study of hospital chart; review of Bernier examination of trial and prepare cross.	6.50 575.00/hr	3,737.50
4/2/2015 NBS	Meeting with team; review of trial exhibits; conference call with John Lenoir re: Compstat; call with Mag re: jury instruction; prepare for cross of Bernier.	8.50 575.00/hr	4,887.50
4/3/2015 NBS	Prepare for cross of Bernier; review of chart and examination before trial.	5.50 575.00/hr	3,162.50

		Hrs/Rate	Amount
4/4/2015 NBS	Prepare cross of Bernier; review of trial exhibits; review of draft jury instructions.	6.50 575.00/hr	3,737.50
4/5/2015 NBS	Prepare of Isakov cross; review of examination before trial and chart.	4.50 575.00/hr	2,587.50
4/6/2015 NBS	Email team; telephone call to Scott Korenbaum re: jury change; prepare Isakov cross.	2.50 575.00/hr	1,437.50
4/7/2015 NBS	Review of and revise motion in limine; review of and revise jury instructions (medical); draft leter to Court re: extension; continued preparation on Isakov cross.	4.50 575.00/hr	2,587.50
4/8/2015 NBS	Drafting cross - outlines; letter to court; conference with trial team.	5.80 575.00/hr	3,335.00
4/9/2015 NBS	Prepare for trial - jury verdict sheets and cross examination outlines of witnesses	7.50 575.00/hr	4,312.50
4/10/2015 NBS	Prepare for Harlon cross; emails re: status; telephone call to Mag Bauza re: to do; telephone conference with John Lenoir re: witnesses; review of witness list.	7.50 575.00/hr	4,312.50
4/12/2015 NBS	Prepare for Harlon cross (3.0); review of Lauterborn transcript.	4.00 575.00/hr	2,300.00
4/13/2015 NBS	Prepare for oral argument; appear in court for conference with court (2.0); conference with team thereafter; email opposing counsel re: Lauterborn CD and Boston illness.	3.20 575.00/hr	1,840.00
4/15/2015 NBS	Telephone conference with Alan Scheiner re: settlement and trial date; emails re: discovery and Boston.	1.50 575.00/hr	862.50
4/17/2015 NBS	Telephone conference with Alan Scheiner and team re: settlement demand email.	1.20 575.00/hr	690.00
4/29/2015 NBS	Review of new recording from City on Lauterborn PG; email trial team restatus; telephone call G. Radomisli re: status of trial.	1.80 575.00/hr	1,035.00
5/5/2015 NBS	Review of review of decision on summary judgment motion.	0.70 575.00/hr	402.50
5/7/2015 NBS	Review of decision; telephone call with opposing counsel (Brian Lee) re: state medical malpractice sliding scale issues and status.	1.30 575.00/hr	747.50
5/8/2015 NBS	Telephone conference with trial team re: status.	0.30 575.00/hr	172.50
NBS	Review of decision; email team.	1.80 575.00/hr	1,035.00

		Hrs/Rate	Amount
5/11/2015 NBS	Review of decision on summary judgment; prepare for conference with court.	1.50 575.00/hr	862.50
5/12/2015 NBS	Prepare for conference meeting with team; conference with court on case re: schedule for trial and pre-trial.	3.50 575.00/hr	2,012.50
5/13/2015 NBS	Telephone conference with Dr. Lubit re: status and trial date; telephone call to Dr. Eterno re: status and trial date.	0.70 575.00/hr	402.50
5/15/2015 NBS	Emails re: schedule on motions in limine; review of recent EDP decision.	0.70 575.00/hr	402.50
5/21/2015 NBS	Telephone conference with A. Schiener; email team re: settlement.	0.80 575.00/hr	460.00
5/22/2015 NBS	Review of recent EDP decision.	0.50 575.00/hr	287.50
5/28/2015 NBS	Review of memo re: reconsideration; telephone call with John Lenoir and email with MG re: same.	0.50 575.00/hr	287.50
5/29/2015 NBS	Prepare reconsideration letter.	1.50 575.00/hr	862.50
6/1/2015 NBS	Drafting letter to court on reconsideration motion.	3.50 575.00/hr	2,012.50
6/2/2015 NBS	Revising and drafting reconsideration motion.	3.00 575.00/hr	1,725.00
6/15/2015 NBS	Review of calendar; telephone call to John Lenoir re: status.	0.30 575.00/hr	172.50
6/19/2015 NBS	Review of motion by City and authorities.	1.50 575.00/hr	862.50
6/22/2015 NBS	Emails re: motions; review of City memo; telephone conference with City; call to W. Kretz; review of Mauriello memo; emails with team re: schedule.	3.20 575.00/hr	1,840.00
6/23/2015 NBS	Email team re: schedule; telephone call to city counsel re: same; email all counsel re: same.	0.60 575.00/hr	345.00
6/24/2015 NBS	Telephone conference with John Lenoir; telephone S.K. re: opposition to bifurcation; emails to counsel re: schedule; letter to Judge Sweet re: schedule; review of motion on bifurcation.	1.30 575.00/hr	747.50
6/25/2015 NBS	Emails with counsel re: status; letter to court re: schedule; review of trial exhibit folder.	0.30 575.00/hr	172.50

		Hrs/Rate	Amount
6/26/2015 NBS	Review of draft portion of opposition to bifurcation.	0.50 575.00/hr	287.50
6/28/2015 NBS	Review of draft memo; revise same.	1.20 575.00/hr	690.00
6/29/2015 NBS	Review memo in opposition to bifurcation motion; telephone call to Scott Korenbaum; call to John Lenoir re: same.	2.80 575.00/hr	1,610.00
6/30/2015 NBS	Review of motions, memo, and case law on reconsideration motions by City and Mauriello.	3.50 575.00/hr	2,012.50
7/1/2015 NBS	Review of reconsideration motion.	1.80 575.00/hr	1,035.00
7/3/2015 NBS	Review of recent production from City Defendants; review of reconsideration motions.	3.50 575.00/hr	2,012.50
7/4/2015 NBS	Drafting opposition to reconsideration motions.	3.80 575.00/hr	2,185.00
7/5/2015 NBS	Drafting opposition to reconsideration motions.	4.00 575.00/hr	2,300.00
7/6/2015 NBS	Revising opposition papers; email co-counsel; emails to opposing counsel.	2.50 575.00/hr	1,437.50
7/7/2015 NBS	Review of schedule; review of emails.	0.50 575.00/hr	287.50
7/8/2015 NBS	Review of recent and prior productions by the City	7.50 575.00/hr	4,312.50
7/15/2015 NBS	Review of emails; telephone call to John Lenoir re: expert discovery; review of opposition to reconsideratio motions; review of prior record for reply; review of motion in limine and schedule for trial preparation.	3.50 575.00/hr	2,012.50
7/17/2015 NBS	Telephone conference with John Lenoir; review of CompStat clips; review of emails.	1.20 575.00/hr	690.00
7/21/2015 NBS	Preparing memo in reply on reconsideration.	1.50 575.00/hr	862.50
7/22/2015 NBS	Drafting reply on reconsideration; review of documentary on Schoolcraft; emails with team; review of tape and transcript of the home invasion; review of witness list and trial exhibits.	5.50 575.00/hr	3,162.50
7/23/2015 NBS	Drafting reply; review of witness list and exhibit trial list for JPTO.	5.50 575.00/hr	3,162.50

		Hrs/Rate	Amount
8/4/2015 NBS	Preparing JPTO draft section.	4.50 575.00/hr	2,587.50
8/5/2015 NBS	Preparing JPTO section; telephone call with team re: same.	5.50 575.00/hr	3,162.50
8/7/2015 NBS	Review of JPTO sections from defendants; telephone call with Brian Osterman; conference call with Plaintiff's team re: JPTO objections; letter to Judge Sweet opposing motion to strike reply.	3.20 575.00/hr	1,840.00
8/9/2015 NBS	Review of JPTO submissions and interrogation of sections; email team; email opposing counsel re: schedule; review of trial assignments.	3.50 575.00/hr	2,012.50
8/10/2015 NBS	Revised JPTO; letter to court re: schedule; emails with co-counsel; emails with opposing counsel re: JPTO.	3.50 575.00/hr	2,012.50
8/11/2015 NBS	Revising JPTO; review defendant's depositions; objections to exhibits.	3.50 575.00/hr	2,012.50
8/13/2015 NBS	Prepare letter motion to court re: JPTO deadlines; review of recent production and emails re: status with defense counsel.	2.80 575.00/hr	1,610.00
8/14/2015 NBS	Revising section of JPTO; review and inclusion in sections from defendants; emails with opposing counsel and co-counsel re: JPTO; conference with John Lenoir re: rifle issues for trial.	3.50 575.00/hr	2,012.50
8/16/2015 NBS	Review of Plaintiff's Trial Exhibits; review of objections.	2.80 575.00/hr	1,610.00
8/17/2015 NBS	Review of JPTO; telephone call with Kretz; review of letter to court from city.	2.50 575.00/hr	1,437.50
8/18/2015 NBS	Letter to court in reply on JPTO adjournment.	1.50 575.00/hr	862.50
8/19/2015 NBS	Preparing JPTO; review of emails; preparing witness focus sheets; review of all defendants exhibits for purposes of asserting objections.	8.50 575.00/hr	4,887.50
8/20/2015 NBS	Review of exhibits and serve photos on defendants by email and fax; letter to court re: filing JPTO; revise and file plaintiff's draft of pre-trial order.	3.80 575.00/hr	2,185.00
8/21/2015 NBS	Preparing witness focus sheets; email opposing counsel re status and moiton in limine deadline; and to do (Larry Schoolcraft very sick and in hospital).	4.30 575.00/hr	2,472.50
8/24/2015 NBS	Preparing focus sheets; email co-counsel re: mental patient gun rights.	1.30 575.00/hr	747.50

		Hrs/Rate	Amount
8/25/2015 NBS	Review of various recordings listed on JPTO; letter to court in opposition to motions.	5.00 575.00/hr	2,875.00
8/31/2015 NBS	Telephone conference with clerk and parties; telephone call with John Norinsberg re status; review of draft motion.	1.30 575.00/hr	747.50
9/2/2015 NBS	Telephone conference with W. Kretz re status	0.30 575.00/hr	172.50
9/4/2015 NBS	Review of and drafting JPTO; long tc with A Scheinder (3x) with J Norinsberg re settlement; tc JL re settlement; email team re same	4.50 575.00/hr	2,587.50
9/6/2015 NBS	Review of caselaw and statutory provisions for obtaining disability pension; review of summary plan description for pension benefits	3.80 575.00/hr	2,185.00
9/7/2015 NBS	Preparing for trial; preparing cross examinaiton outlines and focus sheets for witnesses set to testify or likely to testify for various witness assignements fro trial team	4.50 575.00/hr	2,587.50
9/8/2015 NBS	Telephone conference with JN; tc A Schiener (several times) re settlement; email all counsel re JPTO and new exhibits added; tc B Osterman re request to discontinue against JHMC (less than 6 figures)	3.50 575.00/hr	2,012.50
9/9/2015 NBS	Telephone conference with A Schiener and with co-counsel re settlement (JN: PG; Harvey Levine; Rick Guilbert) re issues pertaining to additional pension benefits; review of caselaw cited by the City on pension issues	3.20 575.00/hr	1,840.00
9/11/2015 NBS	Telephone conference with A Schiener and JN re settlement and willing to increase offer of cash some	0.70 575.00/hr	402.50
9/12/2015 NBS	Preparing for trial; drafting cross outlines and witness focus sheets for trial witnesses and their key points	5.50 575.00/hr	3,162.50
9/15/2015 NBS	Telephone conference with A Scheiner re no deal w/o pension benefit; tc JN re status; drafting detailed settlement memo to cleint on settlement	3.80 575.00/hr	2,185.00
9/16/2015 NBS	Telephone conference with A Scheiner; conf call with JN and GC re settlement; revised detailed memo to client re settlement; tc JL re same; email cleint re settlement	2.80 575.00/hr	1,610.00
For p	rofessional services rendered	2246.00	\$1,291,450.00

## Additional Charges :

	Amount
4/25/2013 Amtrak travel from April 25, 2013 to April 27, 2013.	90.00
4/29/2013 Amtrak to Amsterdam, New York.	41.00
6/26/2013 Travel and conference room expense.	211.80
6/28/2013 Sunoco gas station in Sloatburg, NY.	46.54
Holiday Inn Hotel Johnstown, NY.	137.57
7/10/2013 Schoolcraft travel.	164.00
7/11/2013 Amtrak to Albany, NY.	164.00
8/8/2013 LIRR Ticket Jamaica, NY	70.00
8/15/2013 Lodging, gas, and tolls.	380.00
8/27/2013 Travel (\$28) and lunch \$155.00.	183.00
Travel to Jersey City to meet witness	28.00
9/16/2013 Travel - Amtrack	90.00
9/18/2013 Amtrak Amsterdam to New York.	90.00
9/20/2013 NYC Taxi - Brooklyn, NY.	18.20
NYC Taxi - New York.	15.50
9/23/2013 Metro-North New York, NY.	17.00
10/30/2013 Photgraphy - SIte Visits to 81st Precient and Jamacia Hospital	1,000.00
11/5/2013 Duplication and Federal Express	121.63
11/22/2013 Big Apple Copy Center copies of PDF NYC00010461-NYC00011628.	114.35
11/25/2013 Photocopies of deposition transcripts.	114.35
12/13/2013 Park Slope Inn - overnght	1,193.68
1/3/2014 Amtrak tickets from Amsterdam to New York roundtrip	186.00
1/6/2014 Boston Dep Tr.	843.15
Huffman transcript	1,224.75

Schoolcraft	Page 38
	Amount
2/18/2014 Elise Hanlon deposition transcript from Veritext.	1,882.40
3/12/2014 Schoolcraft diskette from the Southern District Reporters.	31.50
Waiting Time for Court Reporter fee.	190.00
Statement on the record documented at Walter Kretz, Esq. office.	165.00
3/13/2014 Michael Marino deposition transcript from Veritext.	2,856.10
Theodore Lauterborn deposition transcript from Veritext.	2,436.65
4/23/2014 Bernier Dep Tr.	2,238.70
5/9/2014 Timothy Caughey deposition transcript from Veritext.	2,164.70
Steven Mauriello deposition transcript from Veritext.	2,740.10
William Gough deposition transcript from Veritext.	1,314.70
5/20/2014 Vintage Cafe for lunch in Johnstown, NY.	26.90
5/23/2014 Stroz Friedberg ckt # 2953 - digital evidence company	602.89
5/30/2014 JHMC - Maffia 30(b)(6) ebt tr	711.00
6/5/2014 Ferrara Dep Tr	651.75
6/6/2014 Shantel James deposition transcript from Veritext.	924.75
6/17/2014 Dr. Catherine Lamstein-Reiss deposition transcript.	2,557.64
Steven Weiss deposition transcript from Veritext.	1,193.25
Dr. Catherine Lamstein-Reiss deposition transcript.	2,557.64
Dr. Isakov deposition transcript.	1,596.60
6/19/2014 Travel for Adrian Schoolcraft from Amsterdam, NY on Amtrak	109.00
6/20/2014 Kurt Duncan deposition transcript.	1,470.00
Amtrak for Adrian Schoolcraft New York to Amsterdam, NY.	39.00
6/24/2014 Dinner with Expert	188.30
7/3/2014 Lwin deposion tr	397.21
7/4/2014 Park Slope Inn - overnight	716.21

Schoolcraft	Page	39
	Am	<u>iount</u>
7/7/2014 Dhar Dep Tr.	1,08	1.38
7/11/2014 Eli Silverman Ckt # 2973	3,00	0.00
John Eterno chlt # 2974	3,00	0.00
7/15/2014 Whittman 30b6 tr	42	2.19
whalen 30b6 tr	34	6.20
Southern District Court Reporter.	5	0.40
7/16/2014 Valenti 30b6 ebt tr	31	9.95
7/17/2014 Milone 30(b)(6) ebt	49	8.18
Finnegan 30(b)(6) dep tr	56	0.17
7/22/2014 Travel on Amtrak from Amsterdam, NY to Manhattan.	17	3.00
7/25/2014 Car service for witness Dr. Patel.	11	5.00
7/26/2014 Amtrak New York to Amsterdam, NY.	6	4.00
7/28/2014 Jessica Marquez deposition transcript.	1,47	8.25
Steven Mauriello deposition transcript., dated July 1, 2014.	2,18	8.50
Christopher Broschart deposition transcript.	1,53	2.75
Frederick Sawyer deposition transcript.	1,42	1.00
Sal Sangetti deposition transcript.	1,07	4.50
9/3/2014 Eli Silverman expert fee.	1,95	0.00
photocopying per page; IOD Inc Putnam Hospital - Mauriello authorizations ckt # 2985	16	8.17
photocopying per page Garfield Pharmacy re Mauriello authorizations ckt # 2984	3	5.00
9/8/2014 Eli Silverman hk # 2986	1,95	0.00
photocopying per page; Valley Stream - Mauriello authorizations; chk # 2987	3	0.00
9/13/2014 Cabin rental at Bunker Hill to meet with client from September 12, 2014 to September 14, 2014.	20	0.00
9/15/2014 Hannaford - Gloversville, NY.	11	0.03
ExxonMobil gas station Mayfield, NY.	5	1.76

Schoolcraft	Page	40
	Am	<u>iount</u>
9/16/2014 Purpi Dep day one (7-16-14 at 455.66) and day two (9-16-14 433.96)	88	9.62
9/17/2014 Transcript of court appearance with Judge Sweet.	2	9.70
9/19/2014 Carrasco Dep Tr.	33	7.25
9/23/2014 Eternon chk # 2991	1,80	0.00
John Eterno expert fee	1,80	0.00
9/30/2014 Eli Silverman expert fee.	2,40	0.00
Dr. Halpren-Ruder Fees and Expenses for deposition	4,01	0.35
Eli Siverman; chk # 2994	2,40	0.00
10/8/2014 Federal Express	3	2.43
10/21/2014 Dr. Halpren-Ruder Fees	4,40	0.00
10/28/2014 Transcript of witness Alan Cooper.	1,04	8.48
Transcript of witness Timothy Trainor.	1,58	3.01
Transcript of witness William Gough.	50	9.07
Transcript of witness Dr. Indira Patel.	54	6.65
10/31/2014 patel day two ebt tr	52	3.42
11/12/2014 Trainor deposition transcript sent by regular mail.		7.55
11/19/2014 Amtrak to New York back to Amsterdam, NY.	25	6.00
11/24/2014 Eterno and Silverman deposition transcripts for review by experts sent regular mail.	1	2.50
11/25/2014 Federal Express documents to Dr. Roy Lubit.	2	0.00
12/2/2014 Federal Express Dr. Roy Lubit deposition transcript, dated September 2014.	2	1.94
12/4/2014 Anthony Maffia deposition transcript to Veritext court reporting.	71	1.00
12/5/2014 Big Apple Copy Center copies and velobind Memo of Law in Support of Motion to Amend, Notice of Motion, and Exhibits 1-9.	14	2.41
Kurt Duncan deposition transcript to Veritext court reporting.	52	1.00
12/8/2014 Kurt Duncan day two dated 6/23/14 deposition transcript to Suzanna Mettham.		5.45
Anthony Maffia deposition transcript to Gregory Radomisli by regular mail.		5.45

Schoolcraft	Page	41
	Am	<u>nount</u>
12/12/2014 Federal Express	2	0.00
Dr. Roy Lubit third deposition transcript by mail.		5.45
12/15/2014 Mail to all opposing counsel Plaintiff's Deposition Exhibits #105-174.		5.75
12/17/2014 Big Apple Copy Center for copies, exhibits tabs, and velobind Brief.	14	2.41
12/24/2014 Big Apple Copy Center copies with tabs.	34	7.55
1/21/2015 Binding and copying.	34	7.55
2/12/2015 Photocopy and velobind Memo of Law In Opposition of Plaintiff's Motion and Rule 56.1 Statement for Judge Sweet.	8	3.00
Photocopy and velobind Declaration of Nathaniel B. Smith with Exhibits ("POX") Number 1-59 for Judge Sweet.	34	1.97
3/9/2015 Photocopies and velobind brief for Judge Sweet.	8	1.98
10/19/2015 Private Investigator - Skinner	7,25	4.85
11/10/2015 Park Slope Inn-overniight	1,98	84.43
11/17/2015 Dr. Lubit Invoice and time records at \$500 per hour and \$3,500 per half day	58,71	5.00
Total costs	\$151,47	70.16
Total amount of this bill	\$1,442,92	 20.16
Balance due	\$1,442,92	20.16

Law Office of Nathaniel B. Smith 100 Wall Street - 23rd Floor New York, NY 10005

Invoice submitted to: Schoolcraft

November 24, 2015

Invoice #10032

## **Professional Services**

		Hrs/Rate	Amount
12/31/2014 JM	Office meeting.	1.50 250.00/hr	375.00
1/10/2015 JM	Review of CompStat videos.	4.00 250.00/hr	1,000.00
1/11/2015 JM	Review of CompStat videos.	2.00 250.00/hr	500.00
JM	Discussions of Compstat and Schoolcraft materials.	0.75 250.00/hr	187.50
1/14/2015 JM	Review of CompStat videos.	3.00 250.00/hr	750.00
1/16/2015 JM	Review of CompStat videos.	11.00 250.00/hr	2,750.00
1/19/2015 JM	Telephone conference discussing Schoolcraft and CompStat.	0.59 250.00/hr	147.50
1/31/2015 JM	Email communication of summary judgment City response.	0.09 250.00/hr	22.50
2/1/2015 JM	Email of summary judgment City response.	0.09 250.00/hr	22.50
2/3/2015 JM	Email correspondence of City response.	0.09 250.00/hr	22.50

Schoolcraft		F	Page 2
		Hrs/Rate	Amount
2/5/2015 JM	Email of summary judgment on City reponse.	0.09 250.00/hr	22.50
2/6/2015 JM	Email regarding summary judgment to City reponse.	0.09 250.00/hr	22.50
2/12/2015 JM	Email exchange for summary judgment for City response.	0.09 250.00/hr	22.50
For p	professional services rendered	23.38	\$5,845.00
Bala	nce due		\$5,845.00

Law Office of Nathaniel B. Smith 111 Broadway - Suite 1305 New York, NY 10006

Invoice submitted to: Schoolcraft

November 18, 2015

Invoice #10032

## **Professional Services**

		Hrs/Rate	Amount
9/7/2014 JL	Read Schoolcraft deposition.	2.00 125.00/hr	250.00
9/8/2014 JL	Read Schoolcraft deposition.	2.00 125.00/hr	250.00
9/9/2014 JL	Read Schoolcraft deposition.	2.00 125.00/hr	250.00
9/10/2014 JL	Read Schoolcraft deposition.	2.00 125.00/hr	250.00
9/16/2014 JL	Ferrara summary deposition.	2.00 125.00/hr	250.00
9/17/2014 JL	Ferrara summary deposition.	2.00 125.00/hr	250.00
9/23/2014 JL	Ferrara summary deposition.	8.00 125.00/hr	1,000.00
9/24/2014 JL	Ferrara and Broschart summary deposition.	8.00 125.00/hr	1,000.00
9/25/2014 JL	Broschart summary deposition.	8.00 125.00/hr	1,000.00
9/30/2014 JS	Reading, taking notes and discussing the Schoolcraft depositions.	5.50 125.00/hr	687.50

		Hrs/Rate	Amount
9/30/2014 JS	Reading, taking notes and discussing the Schoolcraft depositions.	5.50 125.00/hr	687.50
10/1/2014 JS	Reading and taking notes on "NYPD Tapes."	1.50 125.00/hr	187.50
JS	Reading and taking notes on NYPD tapes	3.50 125.00/hr	437.50
10/2/2014 JS	Reading and taking notes on Schoolcraft Depositions; listening to and discussing Schoolcraft tapes from October 31, 2009.	4.43 125.00/hr	553.75
JS	Reading and taking notes on the Schoolcraft depositions; listening to and discussing the Schoolcraft tapes from October 31, 2009.	5.00 125.00/hr	625.00
10/3/2014 LS	Trainor summary deposition.	5.00 125.00/hr	625.00
10/6/2014 JS	Reading, taking notes, and discussing the Schoolcraft depositions.	1.00 125.00/hr	125.00
10/7/2014 JS	Reading and taking notes and discussing the Schoolcraft depositions.	2.50 125.00/hr	312.50
10/8/2014 LS	Trainor summary deposition.	5.00 125.00/hr	625.00
JL	Mauriello deposition summary - session 2 with errata sheet.	3.00 125.00/hr	375.00
10/9/2014 JS	Reading, taking notes and discussing the Schoolcraft depositions.	2.00 125.00/hr	250.00
JS	Reading, taking notes, and discussing the Schoolcraft depositions.	1.75 125.00/hr	218.75
LS	Trainor summary deposition.	5.00 125.00/hr	625.00
JL	Drafting deposition summary - session 2 with errata sheet.	2.00 125.00/hr	250.00
10/10/2014 JS	Reading, taking notes and discussing the Schoolcraft depositions.	1.00 125.00/hr	125.00
LS	Trainor summary deposition.	2.00 125.00/hr	250.00
10/14/2014 JS	Reading and taking notes.	3.00 125.00/hr	375.00

		Hrs/Rate	Amount
10/14/2014 JS	Reading and taking notes on the Schoolcraft depositions.	3.00 125.00/hr	375.00
10/15/2014 JS	Reading and discussing the Schoolcraft depositions.	2.00 125.00/hr	250.00
10/16/2014 JL	Mauriello deposition summary - session 2 with errata sheet.	8.00 125.00/hr	1,000.00
10/17/2014 JL	Mauriello deposition summary - session 2 with errata sheet.	4.00 125.00/hr	500.00
10/19/2014 JL	Shantel James deposition summary.	3.00 125.00/hr	375.00
10/20/2014 JL	Shantel James deposition summary.	2.00 125.00/hr	250.00
10/21/2014 LS	Gough deposition summary.	4.00 125.00/hr	500.00
10/22/2014 JL	Kurt Duncan deposition summary.	5.00 125.00/hr	625.00
LS	Gough deposition summary.	4.00 125.00/hr	500.00
10/23/2014 JL	Kurt Duncan deposition summary.	3.00 125.00/hr	375.00
JS	Listening to radio police calls on disc 10, 22 and Schoolcraft surveillance videos.	4.00 125.00/hr	500.00
10/24/2014 LS	Sawyer deposition summary.	4.00 125.00/hr	500.00
10/27/2014 LS	Sawyer deposition summary.	4.00 125.00/hr	500.00
10/28/2014 LS	Sawyer deposition summary.	4.00 125.00/hr	500.00
10/29/2014 JS	Reviewing surveillance videos of Adrian's house and writing summaries of these videos along with other documents on the CD's from the Schoolcraft file.	2.00 125.00/hr	250.00
10/30/2014 LS	Sawyer deposition summary.	3.00 125.00/hr	375.00
10/31/2014 LS	Gough deposition summary.	4.00 125.00/hr	500.00

		Hrs/Rate	Amount
11/3/2014 LS	Summarize Gough deposition transcript.	3.00 125.00/hr	375.00
11/7/2014 LS	Summarize Marquez deposition transcript.	4.50 125.00/hr	562.50
11/10/2014 LS	Summarize Marquez deposition transcript.	4.50 125.00/hr	562.50
11/12/2014 LS	Summarize Marquez deposition transcript.	5.00 125.00/hr	625.00
11/13/2014 LS	Summarize deposition of Sangetti.	4.00 125.00/hr	500.00
11/14/2014 JL	Summarized deposition of Larry Schoolcraft.	2.00 125.00/hr	250.00
LS	Summarize deposition of Sangetti.	4.00 125.00/hr	500.00
11/16/2014 LS	Summarize deposition of Sangetti.	2.00 125.00/hr	250.00
11/17/2014 LS	Summarize deposition of Sangetti.	4.00 125.00/hr	500.00
11/20/2014 JL	Summarized deposition of Larry Schoolcraft.	5.00 125.00/hr	625.00
11/23/2014 JL	Summarize deposition of Larry Schoolcraft.	5.00 125.00/hr	625.00
11/24/2014 LS	Summarize deposition of Dr. Patel.	4.00 125.00/hr	500.00
11/25/2014 JL	Summarize deposition of Larry Schoolcraft.	5.00 125.00/hr	625.00
LS	Summarize deposition of Dr. Patel.	3.00 125.00/hr	375.00
11/26/2014 JL	Summarize deposition of Larry Schoolcraft.	5.00 125.00/hr	625.00
11/28/2014 LS	Summarize deposition of Purpi.	3.50 125.00/hr	437.50
JL	Summarize deposition of Steven Mauriello.	2.00 125.00/hr	250.00

		Hrs/Rate	Amount
11/29/2014 JL	Summarize deposition Steven Mauriello.	1.00 125.00/hr	125.00
11/30/2014 JL	Summarize deposition of Steven Mauriello.	2.00 125.00/hr	250.00
LS	Summarize deposition of Purpi.	3.50 125.00/hr	437.50
12/1/2014 LS	Summarize deposition of Dr. Patel.	2.00 125.00/hr	250.00
LS	Summarize deposition of Purpi.	1.00 125.00/hr	125.00
JL	Summarize deposition of Steven Mauriello.	4.00 125.00/hr	500.00
12/2/2014 JL	Summarize deposition of Steven Mauriello.	6.00 125.00/hr	750.00
12/4/2014 JL	Summarize deposition of Steven Mauriello.	4.00 125.00/hr	500.00
12/5/2014 LS	Summarize deposition of Dr. Lwin.	3.00 125.00/hr	375.00
12/6/2014 LS	Summarize deposition of Dhar.	4.00 125.00/hr	500.00
LS	Summarize deposition of Dr. Lwin.	1.00 125.00/hr	125.00
12/8/2014 LS	Summarize deposition of Dhar.	4.00 125.00/hr	500.00
12/9/2014 LS	Summarize deposition of Dhar.	4.00 125.00/hr	500.00
JL	Summarize deposition of Dominick Valenti.	1.00 125.00/hr	125.00
12/10/2014 LS	Summarize deposition of Carrasco.	4.00 125.00/hr	500.00
JL	Summarize deposition of Dominick Valenti.	8.00 125.00/hr	1,000.00
12/11/2014 LS	Summarize deposition of Dhar.	2.00 125.00/hr	250.00

		Hrs/Rate	Amount
12/11/2014 JL	Summarize deposition of Kevin Finnegan.	3.00 125.00/hr	375.00
12/12/2014 JL	Summarize deposition of Kevin Finnegan.	3.00 125.00/hr	375.00
12/13/2014 JL	Summarize deposition of Bernard Whalen.	2.50 125.00/hr	312.50
12/15/2014 LS	Summarize deposition of Cooper.	3.00 125.00/hr	375.00
12/16/2014 LS	Summarize deposition of Cooper.	4.00 125.00/hr	500.00
12/17/2014 LS	Summarize deposition of Cooper.	3.00 125.00/hr	375.00
12/18/2014 LS	Summarize deposition of Cooper.	2.00 125.00/hr	250.00
12/21/2014 LS	Summarize deposition of Maffia.	3.00 125.00/hr	375.00
12/22/2014 LS	Summarize deposition of Maffia.	3.00 125.00/hr	375.00
12/24/2014 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
12/26/2014 LS	Summarized Lubit deposition.	3.00 125.00/hr	375.00
12/27/2014 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
12/28/2014 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
12/29/2014 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
12/30/2014 LS	Summarize Halpren-Ruder deposition.	3.50 125.00/hr	437.50
1/1/2015 LS	Summarize Halpren-Ruder deposition.	3.50 125.00/hr	437.50
1/2/2015 LS	Summarize Halpren-Ruder deposition.	4.00 125.00/hr	500.00

		Hrs/Rate	Amount
1/3/2015 LS	Summarize Lauterborn deposition.	3.00 125.00/hr	375.00
LS	Summarize Halpren-Ruder deposition.	1.00 125.00/hr	125.00
1/5/2015 LS	Summarize Lauterborn deposition.	3.00 125.00/hr	375.00
1/7/2015 LS	Summarize Marino deposition transcript.	3.00 125.00/hr	375.00
1/8/2015 LS	Summarize Marino deposition transcript.	3.00 125.00/hr	375.00
1/9/2015 LS	Summarize Marino deposition transcript.	2.00 125.00/hr	250.00
1/12/2015 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
1/13/2015 LS	Summarized Lubit deposition.	4.00 125.00/hr	500.00
1/14/2015 LS	Summarized Lubit deposition.	2.00 125.00/hr	250.00
1/22/2015 LS	Summarized Lubit deposition.	1.00 125.00/hr	125.00
1/29/2015 LS	Silverman deposition summary for expert witness.	5.00 125.00/hr	625.00
JS	Reviewing and taking notes on CompStat meeting videos.	6.00 125.00/hr	750.00
1/30/2015 LS	Silverman deposition summary for expert witness.	4.00 125.00/hr	500.00
2/2/2015 LS	Silverman deposition summary for expert witness.	4.00 125.00/hr	500.00
2/3/2015 JS	Reviewing and taking notes on CompStat meeting videos.	6.00 125.00/hr	750.00
LS	Silverman deposition summary for expert witness.	5.00 125.00/hr	625.00
2/4/2015 LS	Silverman deposition summary for expert witness.	2.00 125.00/hr	250.00

		Hrs/Rate	Amount
2/4/2015	JS Reviewing and taking notes on CompStat meeting videos.	2.00 125.00/hr	250.00
2/5/2015	JS Reviewing and taking notes on CompStat meeting videos.	6.00 125.00/hr	750.00
l	LS Summarized Adrian Schoolcraft deposition transript.	4.00 125.00/hr	500.00
2/6/2015 L	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
2/9/2015 l	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
2/10/2015 l	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
	JL Summary of Whittman deposition transcript.	1.00 125.00/hr	125.00
2/11/2015	JL Summarize Whittman deposition transcript.	2.00 125.00/hr	250.00
l	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
2/12/2015 l	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
2/13/2015 l	LS Summarize Adrian Schoolcraft deposition transcript.	4.00 125.00/hr	500.00
2/16/2015 L	LS Summarize Adrian Schoolcraft deposition transcript.	3.00 125.00/hr	375.00
	JL Summarize Milone deposition transcript.	1.50 125.00/hr	187.50
2/17/2015	JL Summarize Milone deposition transcript.	3.50 125.00/hr	437.50
l	LS Summarize Adrian Schoolcraft in Floyd deposition transcript.	3.00 125.00/hr	375.00
F	For professional services rendered	442.18	\$55,272.50
E	Balance due	_	\$55,272.50

Name	Date	Cost	
Aldana-Bernier	4/23/14	\$	2,238.70
Boston	1/6/14	\$	843.15
Broschart	6/18/14	\$	1,532.75
Carrasco	9/19/14		337.25
Caughey	12/9//13		2,164.70
Cooper	7/24/14	\$	1,048.48
Duncan (Day 1)	4/28/14	\$	1,470.00
Duncan (Day 2)	6/23/14	\$	521.00
Dhar	7/7/14	\$	1,081.38
Eterno (Expert)	10/17/14		
Ferrara	6/5/14	\$	651.75
Finnegan 30(b)(6)	7/17/14	\$	560.07
Gough	4/11/14	\$	1,823.77
Halpern-Ruder	9/30/14		
Hanlon	1/13/14	\$	1,882.40
Huffman	1/6/14	\$	1,224.75
Isakov	2/12/14	\$	1,757.95
James	5/12/14	\$	924.75
Lamstein	1/30/14	\$	2,557.64
Lauterborn	11/7/14	\$	2,436.65
Lubit (Day 1)	9/23/14		
Lubit (Day 2)	11/10/14		
Lubit (Day 3)	11/13/14		
Lwin	7/3/14	\$	397.21
Maffia-JHMC	5/30/14	\$	711.00
Marino	10/8/13	\$	2,856.10
Marquez	5/14/14	\$	1,478.25
Mauriello (Day 1)	12/20/13	\$	2,740.10
Mauriello (Day 2)	7/1/14	\$	2,188.50
Milone 30(b)(6)	7/17/14		498.18
Patel (Day 1)	7/25/14	\$	564.65
Patel (Day 2)	10/31/14		523.42
Purpi (Day 1)	7/16/14	\$	455.66
Purpi (Day 2)	9/19/14		433.96
Sangetti	5/15/14	•	1,074.50
Sawyer	4/25/14	\$	1,421.10
Schoolcraft, Adrian (Day 1)	10/11/12		
Schoolcraft, Adrian (Day 2)	9/26/13		
Schoolcraft, Adrian (Day 3)	9/27/13		
Schoolcraft, Larry	12/11/13		
Silverman	10/24/14		
Trainor	4/10/14		1,583.01
Valenti 30(b)(6)	7/16/14		319.95
Weiss	5/29/14		1,193.25
Whalen 30(b)(6)	7/15/14		346.20
Whittman 30(b)(6)	7/15/14		422.19
Statement	10/25/13	\$	190.00

11/22/13 \$ 165.00 \$ 44,619.37 Statement